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Myramim:

berumosa I'ynbnen KaupracoBHa " buomnorus
1 [TaBnogap KaJIaChIHBIH HoHiHiK
Ne75KOBEBBMM" MM .
MyFalimi
OtapoBa Aitxxan JKeHucoBHa buonorus
2 "ITaBogap KaynacbiHbIH Ne19 | noHiniH
KOBEM" MM MyFasTimMi
AxmeroBa Paiixan HypcabutoBHa buonorus
3 "ITaBnonap KajnachbIHBIH MOHIHIH
K.bekxoxunna JKObbM" MM MyFaiMi
KycannoBa Kapmsira AnnxaHoBHa buonorus
4 "ITaBnonap KanacbHbIH Ne33 | moninHin
KOBEM" MM MyFalTiMi
bexremuposa I'ayxaprac bonaroBHa buonorus
5 "ITaBiogap KanacbiHbIH Ne37 | roHiHIH
KOBEM" MM MyFasTiMi
Kamapona Kaitnpuikasat TayekenoBHa buonorus
5 "ITaBiogap KanacbiHbIH Ne40 | roHiHIH
XKOBEM" MM MyFasTiMi
Hcabaesa ['yan6apibia buonorus
7 TypchiHTaIMEBHA "ITaBiogap KaymacbiHbIH Ne21 | noHiniH
XKOBEM" MM MyFastiMi
[apuBxan Ocemryn buonorus
3 "ITaBiogap KaynacbiHbIH Ne24 | roHiHiH
KOBBEM" MM MyFaTimMi
Kanuesa Kynsm TemupxanoBHa buomnorus
9 "ITaBnomap KanaceHbIH Ne37 | moniHig
KOBBEM" MM MyFalTiMi
[ITexTri0aeBa XKansipa KaupbexoBna buonorus
10 "ITaBonap KayacbHbIH Ne35 | moninHin

XOBBEM" MM

MyFaimi




JxakunoBa Maknan AnaiijapoBHa buonorus
11 "ITaBnonap KanacbHbIH Ne35 | moniHig
" . .
KOBBEM" MM MyFalTiMi
KymabekoBa ToprbiH buomnorus
12 AiigapxaHoBHa "ITaBnomap KanaceHbIH Ne22 | moniHiH
" . .
KOBBEM" MM MyFalTiMi
3apaxan Hypmam buomnorus
13 Kemxexon 2KOM TORIHIH
MyFaiimi
KaceiMroxnnaa Mapan TacTtynekoBHa; buonorus
14 "ITaBiogap KaymacbiHbIH Ne25 | roHiHiH
" . .
KOBBEM" MM MyFaTimMi
KosxkakeeBa ['ynHa3 ©O0y0oKipKbI3bI buonorus
"ITaBogap KayacbiHbIH Ne33 | roHiHIH
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XOBbEM" MM

MyFaJliMi




Tycinik xat

O3exTiairi: Kazipri yakeirra Oipkarap moHAEp/Ii aFbUIIIBIH TITIHAE OKBITYABIH 9P
TYpJ1i omicHaMmalbIK Tociiaepi Kazakcran PecryOnukachIHBIH MEKTENTEpiHAE OEICeH I
TYpAE EHri3UIN, OKY MPOIECiH >XOcIapiayFa Ke3KapacTaplbl e3repTy KaKeTTUIITi
TybIHJAWbI. KaHa MEMJIEKETTIK Ky»KaTTap/ibl OaclIbUIbIKKA ajia OTBIPBIN, HET13r1 opTa
OuTiM OepyJliH MaHBI3JIBI MIHJAETTEPl CTYJICHTTEpre OLIIM amyabl, 63 OCTIHIIE >KYMBIC
Kacaybl, JEMEK, ©31H-031 JaMbITy MEH JXKETULIIPYAl KaMTamachl3 €TeTIH >KaJIlbIFa
Oipaeit OuTiM Oepy 1C-opeKeTTepiH KalbIITacThIpy OOJbIN TaObuIabl. by TamanTap
KaHAPTBUIFAaH Ma3MYHFa apHaJFaH JKaImbl opTa OuUliM  JCGHTeHiHIH  OKYy
OarmapiiaMachiHa KepceTiareH. KapKbIHbI JaMBIIT KeJie )KaTKaH Ka3ipri 3aMaHFbl 9JIeM
op ajzamra KYpAeNi TamanTapibl KOSIbl: CHIPTKBI OpTagaFbl KONTETCH ©3repicTepre
Oeilimzaenny, onapablH SJEMIErl *OHE MOJCHHM KOFaMIACTBhIKTarbl OPHBIH OlTy, ajiFaH
OLTIMIEP1 MEH JaFAbLIaphIH KYHACTIKTI OMIpJIe KYy3€ere achIpy.

Herisri mingeri: oxkymbUapabsiH aepOec O€NCeHIUIINT MEH OJIapAblH JKEKe
KayanKepIIUTIKTEpiHE aJIbIll KeJIETiH OUTIM MEH JaFabUIapblH TOJBIKKAHIbI KYHECIH
KasbinTacTelpy. COHBIMEH Karap, WIET TUIIH Ouly OUTlIM MeH KociOM ecyAlH KYIUTI
KypaJlapelHbIH OipiHe aifHanmanael. bynm Oarmapiama KochIMINAa Kype, KONTUIIUTIKTE
arbUIIIBIH TEPMUHACPIH KOJIJAHATBHIH, JUJIAKTUKAIBIK TarchipMasap/bl OpbIHAAyAa
TYJIFaHbIH KYpPBUIBIMBIH €CKEepe OTBIPBIN, >KYHell TYpAEe OKBITYAbl JaMBITy >KOHE
TopOHesney IPUHITUIITEeP1 HEeT131H/e CaJbIHFaH.

buonorusneik O11iM TaOWFATTBI KYTyre >KoHE OoJIallaK YPIAKTBIH OMIp CYpy
KarJalnapblH cakTayFa OalaHbBICTBI OOJDKaMIBIK OarbiTKa HWe OobIm, OLIiM Oepy
MPOIECIHIH TUIMAUINIH »aHa >KOJIMEH aHbIKTalabl: OlliMre, KaOlIeTTepre >KOHE
Oaranmayra KOCBIMILIA TaOUFATTBIH CAKTATYbIH KaMTamachl3 €TETIH 1C-9peKeTTep/l,
COHBIMEH KaTap KaJIBINTACYbIH €CKepy KaKeT TaOuFaTKa KaThICThI OaFaapay.

Herisri  uagesutappl:  OHBIH  JapajibifblH  KYIIEUTY,  THIMIAUIIT  MEH
(YHKUMOHAABIFBIH apTThIPY, KbUIT CailblH cabaKTap bl KOOEUTy kKoHe OipTiHAen OYKLI
MEKTENT] arbUIIIbIH TUTIHJAE OMOJIOTHSHBI OKBITYFa KeuIlpy. OJeMIIK 3KOHOMHKAIBIK
KEHICTIKKE HMHTErpauusjaHy ojeM TUIAEpIH, aTal alTKaHJa aFbUIIbIH TUNH Olamen
MYMKIH eMecC.

Enniyn JxoHe OHBIH a3aMaTTapbIHBIH Oocekere KaOUICTTUINH KamMTaMachl3 €Ty
MakcaTbiHga «TiUTnepAaiH YIITYFBIPIBIFBDY MOJCHU KO00AaChIH KE3€H-KE3€HIMEH >Ky3ere
achIpy YCHIHBUIFAH. YIII TULI JAMBITY KaXET: Ka3aK TUT - MEMJICKETTIK T, OPBIC TiM -
YITapajbIK KaThIHAC T, aFBUIIIBIH TUTI - QJIEMJIIK SKOHOMUKAFa COTTI HHTETpaIUsIaHy
Tl pEeTIHAC.

binim  OepyliH KaHApTbUIFAH Ma3MYHBIH €CKEpe OTBIPBI, OKY MpOIECiHE
e3repicTep eHrizy KakeTTumiri, eWtkeHi Kazakctan PecryOinkachlHBIH OapiblK OKY
OpBIHJAPBIHAA KONTUIIUIIKTI €HT13y KaXeTTUIIr TybIHJalabl. ByriHri anemzae OoJiblm
’KaTKaH OKUFaJIap ayKbIMBIHBIH ©3Tepyi, COHIai-aK aKmapaTThIK KapbUIbIC, aKIapaTThIH
te3 apTybl XXI Facslpaa skaHa O111M MEH TYCIHIKTIH Ka)KeT OOJIAThIHIBIFbIH KOPCETEI].



MekTen xarqaiibIHIA TIATE JIETEH YJIKEH KbI3BIFYIIBUIBIKTHI TYIBIPATHIH, dp TYPIIi
TOCUIIEp MEH TOCUIAEpAl KaMTaMmachl3 €TETIH cayaTThl OKy OarjapiiaMachl MEH
oJIICTeMEITIK KOJIJIay IIeT TiJIiH, aTan alTKaH/a, aFbUIIIBIH TUTIH COTTI MEHrepy/ie YJIKEH
MaHBI3Fa Ue. TUIIIH TYPaKThl OCKITUIYI.

FouibiMun HaBUramusicbl: OJIICTEMENIK Kypall a3y YIIH, KONTUIAUIIK asChIH/Ia
arbUIIIBIH TUTIHAC OWOJOTHUSIHBI OKBITYJA 3JICKTUBTI KypcTapibl aaspiay OoMbIHIIA
ofedueTTepre  TEOPHSUIBIK — Taljay  JKacaluabl. «buoJorusmaH  JUIAKTHKAIBIK
TarChIpMaNapbIH aFbUILIBIH TUTIHE» 9MIICTEMENIK KYpasbl )Kacasbl.

IIpakTUKaNBIK MaHBI3ABUIBIFBI: Ka3aK MEKTENTEPiHAEC OHOJIOTHSIHBI OKBITY
OOWBIHIIIA OKYJIBIKTAP MEH OKY KYpaJIapbIHBIH KETICTICYIITITiHE OailIaHBICTHI

8-coibimKa apHanraH <«OKaHapTeUIFaH OarmapiiaMa OOWBIHINA — THIAKTHKAJIBIK
MaTepHuaniap JKHHAFbD)

YcomHbpUTFaH OaFrgapiaMaiiap MEH VCBIHBICTApAbl apHailbl KypCTapAbl EHTI3Y
KE31HJIe MEKTEI MYFaJIiMJIepl KOJJjaHa ajaabl.

buonorusiasik OU1IM ©CKeNleH YpIiakK apachlHaa eMipai KYHIBUIBIK PETIHIE TYCIHY/ I
KQJIBITITaCTHIPAIBI.

Ocbl HYCKAYJBIKTBIH  aWpbIKmIa  OejrijiepiHe  MbIHAJAp  KATaabl:
XKapaTbuipicTany 3epTTEyJIEpiHIH KEeH CIEKTPIH KaAMTHJIbI JKOHE Kajmbl OLTIM OepeTiH
MEKTEIITIH HET13I1 OKY ’KOCTapblHa KOChIMIIIA OOJIBIN TaOBIIA b,

CryneHTTep OHMOJIOTHSIHBI aFbUIIIBIH TUNHAC OKyFa JadbiHianyna. OKy Kypalibl
Ouosorus MyraliMJEpIHE arbUIIIBIH TUIIHAE cabak Oepyae KOeMEKIIl Kypayl peTiHIE
KYPaCTBIPBUIIIBI.
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1 - 6eaim. JKacymajabik Ouosorus

Taxkpipbin: [IpokapHoT KOHE IyKAPHOT KACYLIATAPBIHBIH KYPbLIbICHI.
Topic:The structure prokaryotic and eukaryotic cells.

1- Tanceipma. TemeHmeri  ce3nepll  MalJalaHbIll,  >Kacyliajgap
OpraHOWITAPBIHBIH aFbUIIIBIHILA aTayJIapblH Ka3bIHbBI3.

1-task. By using bellowing words, write names of organelle cells in english
| |

cytoplasm, membrane, cell wall, nucleus, mitochondria, ribosomes,
chloroplasts, golgy body, lysosomes, endoplasmic reticulum, vacuole. [1]

2- TancbipMa. JKacyia opraHouATepiHIH aTayJapbiH )Ka3bIHbI3.

2-task. Write names of cell organelles

Organellesof the Cell

3- TanchipMa. OYKapUOTTBIK KOHE MPOKAPUOTTHIK >Kacyllajap.IbIH
YKCACTBIKTaphl MEH alibIpMaIIbLIbIKTAPbl KaH 1Al ?


https://en.wikipedia.org/wiki/Cytoplasm
https://en.wikipedia.org/wiki/Cell_membrane
https://en.wikipedia.org/wiki/Cell_wall
https://en.wikipedia.org/wiki/Cell_nucleus
https://en.wikipedia.org/wiki/Mitochondria
https://en.wikipedia.org/wiki/Ribosome
https://en.wikipedia.org/wiki/Chloroplasts
https://en.wikipedia.org/wiki/Lysosomes

3-task. What are the differences and similarities of eukaryotic and
prokaryotic cells?

Eukaryotic cells Prokaryotic cells

4- tancbipma. Kecteni coiikecTeHIIpiHI3.

4-task. This vocabulary and definitions should be separated from each other

Cell Package proteins

Kacyma AKYBI3JapAbIH KUbIHbBI

Cell membrane Jelly-like structure inside of cell. It surrounds and hold

Kacyma organelles.

MeM6paHaCbI >K8.CYI_H21HI>IH 1K1 KYPBUIBIMBIHIAFbI KCJIC CUAKTHI 34T,
OpPraHOUITAP]IbI CaKTal, KOPIIAaiabl

Cytoplasm Transport materials through the cell and produces

[{uTorurasma proteins
Kacyma apkplibl MarepuanAapibl TacbIMaJAaiabl,
MIPOTEHH/II OHIpel

Nucleus Surrounds the outside of cells and controls what enters

Snpo and leaves

JKacymaHbelH CBIPTBIH KOPIIAWIBI, HEHIH MILIFATHIHBIH
MEH €HETIHIH OaKbUIalIbl

Mitochondria

Smallest unit of life

MutoxoHapust TipurinikTiy eH KimkeHTai 6ipiiri

Golgi body Powerhouse of the cell

FOJ’IBI[)KI/I }Kacymanapz[LIH OHEPICTHUKAJIBIK CTaHCACHI

JKUBIHTBITbI

Lysosome Control center of the cell where DNA is located
JInzocomanap JIHK opHanackas »acyliia OpTaJbIFbIH OaKbLIal bl
Endoplasmic Stomach of the cell, response for the digestion of lipids
reticulum XKacymanapaplH acka3aHbl, JUIUATEPIIH aC KOPHITYBIH
OHOOILIa3MaJIbIK OaKkbLIA B

TOp

1- 6eaim. KacymaabiK 0M0JI0T U
TakpIpbIObI: OCIMIIKTEP MEH KaHyapJap/IblH YINAIAPBIH KIKTEY
Topic: Classification of plant and animal tissues




Tancsipma 1.
Task 1.

a) JKOFapbIIAFbI CYPeTTeH CYleK YJINAChIH AHBIKTAHAAP)
Determine which of these patterns represents bone
tissue.

b) Kanpaii epekmesqikrepi apKbLibl CyHeK YJINACHIH AHBIKTaAbIHAAP?
KayaObIHbI3abI TYCIHAIPiHI3

Explain your answer. What signs allowed you to identify the
tissue?

¢) E cyperinjeri yJinanbiH aTKapaTbiH KbI3MeTi KaH1ail?
What is the function of the fabric in Figure E?

Tanceipma 2. KecTeHi TOATHIPBIHBI3. ¥mangapabl IYPbIC aHBIKTAI, OJIap IbIH
KbI3METI MEH OpHAJIACKaH OPHBIH KOPCETIHI3.

Task 2. Fill the table. Correctly determine the types of fabric, their functions
and location

Yananap Kbi3meri Opnanackan
Tissue Functions OPHBI
Disposition
Ty3ymri CabakThIH
Educational YIIIbIH 1A
tissues Top of the stem,
internodes
Conductive 3aTTapIbsiy
Orki3zrim tissues TachIMaJIIaHybI
Substance
transport
Herisri main XKansipak, cabax
tissues Leaf stalk
Tipek,
KOPFaHBIII




Support,
protection

Kanbipax
KaOBIKIIIACHI,
cabak  KaOBIFBI
Peel of the leaf,
bark

Tancbipma 3 Tect TancelpMaiapbiH OpbIHAA

Task 3 Complete test tasks

1. AOpuKOCTBIH CyHeri KaHaai yimnagad Typasbl?

What does an apricot kernel shell consist of?

a) MexaHHKaJIbIK yira mechanical tissue

0) »kaObIH yJina integumentary tissue

B) Ty3ymi yiana educational tissue

2.Ky¥ike yiieci MbIHaHbBI KAJIBINTaCTHIPA/IbIL:

Nerve tissue does this:

a) KaHka oyimmbikerTepiaforms skeletal muscle

b) 6e3nep men aene tepicinforms the integument of the body, glands
C) OpTYpJi MYIIENIEP/IH apachiHAarbl OalIaHbICTHI KaMTaMachl3 €Tel
provides fast communication between various bodies

3. OciMIiK KeMici MeH JKarbIparbIHIAFbl €TKEH T OOJTITiH KYPaHThIH YJIra:
What does the pulp of the leaf and fruits consist of in plants:

a) Ty3yu yinnaeducational tissue

b) mexanukanbIk yimna mechanical tissue

C) HeTi3ri yima main tissues

4. Heri3inzae kapTornta ()OTOCUHTE3 KY3€Te acabl:

a) »aObIH yJma integumentary tissues

b) Herisri yymamain tissues

c) Ty3yurn ymaeducational tissue [1]

2 - 6es1iM. MoJieKkyJIaJbIK 0H0JIOT U

TakpipbiObl: 7KacylIaHbIH OPraHMKAJBIK 3aTTApbl: MOJUMEpPJEep MeH
MOHOMepJIep

Topic: Organic substances of cells: polymers and monomers

1TanceipMva . MoHOMEP MeH TNOJUMEPAIH AWBIPMANIBLIBIKTAPbIH
CHUNATTAHBI3. BHOJOTHAJBIK MbICAIAP KeJTIPiHi3.

Task Describe the difference between a monomer and a polymer. Give
biological examples.

Monomep HHonumep
Monomer Polymer




Mpeicangap
Examples

2. Ilotumepre sKaTaTbIH KOCBHLIBLICTHI OeJIrijIeHis.
Mark the compound related to the polymer.
A) aMuH KpIIIKBULIAPBI aMINO acids
B) rimoko3a glucose
C) cyreri hydrogen
D) xpaxman starch
3.Ilonumepaepain KacuerTepin deriie:
Designation of polymer properties:
A)Depmentrep Enzymes
B)MoHoMmepiiepliH  bIABIpAaybl  TOJIMMEpre  Oipiryi decomposition of
monomers into polymers with the cells
C)Xacyma cells
D)Kpaxman Starch
4. OpraHukajibIK 3aTTapAbl aTa:
what are the organic substances:
A)Kewmipcy, HOpYBI3, Maiiap, HYKJICHH KbIITKbUIIAPBI
carbohydrates, proteins, fats, nucleic acids
B)aopymen vitamins
C)ropmon hormone
D)depmentrep enzymes

2 - 6es1iM. MoJieKkyJIaJbIK 0HO0JIOT U

TakpipbiObl: Kemipcysap meH Jjunuarep. OuapablH  Kacueri MeH
KbI3METI.

Topic: Carbohydrates and lipids. Their properties and purpose.

1 Tanceipma. KecTeHi TOATBIPBIHBI3, TY>KBIPBIMIAMAHbI COMKECTEH IIPIHI3
Task. Fill in the table and identify the wording

Kemipcy.iap Maiinap Hopys13nap
Carbohydrates fats Squirrels




2. TyxbIpbIMAaMaJIap.

A. OciMIIK )KacylalapblHia KOPFa )KUHAJIATBIH 3aT — Kpaxmal.

B. DHepreTukanbslk KbI3MET aTKapaabl, ce0e01 OHBIH 1 TpaMbl BIJbIparaH]ia
38,9k /I>x sHEprus Ty3UIe/Il.

C. Makra tamubslFeiaga 98 naibI3 1esU1r0103a 00J1ab!.

D. Anam jxoHe KaHyapiapJblH aCKOPBITY XyheciHae GepMeHTTEp MaHbBI3IbI
peia aTKapansbl.

E. Taceimanay KbI3METiH FeMOTJIOONH aTKapabl.

F.Tepi, mamnr »oHe Ko3/1iH HYPJIbI KAaOBIKITACHIH/A MEJTAaHUH TYC Oepe/i.
2.Concepts.

A. the Substance collected in plant cells in stock is starch.

B. in this case, due to the fact that due to the fact that currently due to the fact
that it does not work, it can not work.

C. there will be 98 percent cellulose In the cotton fiber.

D. enzymes play an Important role in the digestive system of humans and
animals.

E. the transport Function is performed by hemoglobin.

F. Gives melanin color in the skin, hair, and light skin of the eyes.

3. BuoJIorusiIbIK ecel.

The biological account.

1 rpaMM HOpyBI3 TOTBIKKaHJIa TY3UIeTIH d3Hepruss 1 rpamMm Kemipcy
TOTBIKKaHJaFbl 2HEprusiMeH Oipjeit. He cebenTi ar3a HOpYbI3AAp/Ibl — SHEPTUS
K631 peTiHJIe TEeK aca KaKeT JKaF/aai1a FaHa mamananaaser? TyciHaipiHiz?

The energy produced by the oxidation of 1 gram of protein is the same as the
energy produced by the oxidation of 1 gram of carbohydrates. Why does the
body use proteins as a source of energy only when it is absolutely necessary?
Explain?

2 - 6es1iM. MoJieKkyJIaJbIK OHOJIOT U

Taxkpipbi0b1: Hopybizgap. OuiapabiH KacueTi MeH KbI3MeTi.

Topic: Squirrels. Their properties and purpose.

1.  Tanceipma  Hopysi3-moniekynanapbl  eTe  Kypaeni  0OoJiaThiH
AMUHKBIIIKBUIIAPbIHAH ~KYpaJFaH oOpraHukanelK 3ar. Omap opranusmjie
OpTYpJTi KbI3MET aTKapasbl.

(a) XuMusIIbIK peakuusIapAblH )KYPY1H TE3ETETIH HOPYBI3/Abl aTaHbI3.



(b) Otrerin TacbiManaay KbI3METIH aTKapaThIH HOPYbBI3/IbI aTaHbI3.

1. Proteins are an organic substance consisting of amino acids whose
molecules are very complex. They perform various functions in the body. (a)
name the  proteins  that  accelerate  chemical  reactions.

(b) Name the protein that performs the function of transporting oxygen.

N

. HopybI3bIH Heri3ri yi KbI3MeTi:
2. Three main functions of protein:

Cypaxkrap Questions XKayanrap Answers

KypBUIBICTBIK KBI3MET1
Construction activity

DepMEHTTIK KbI3METI
Enzyme activity

DHEPTeTUKAIBIK KbI3MET1
Energy activity

3. HopybI3 KypaMbIHa KaHIlla aMUHKBIIIKbUIAAP Kipesi?
How many amino acids does a protein contain?
A)20 B)25 C)40

3 - 0eJim. Tipi ar3ajapabIH KenTypJiiairi.

TakeIpbin: OciMaik 0esiMaepiHiH epekie OeJrijiepi
Topic: Distinctive features of the plant part
Tanceipma 1 Cyper neH arayjapbiH COMKeCTeHAIPiHI3
Exercisel. Match the title to the picture

1.Seaweed

2.Mosses

3.Ferns

4.Gymnosperms

5.Angiosperms



Tanceipma 2 T'yJaiH KYpbUIBICHIH aTaHbI3
Exercise 2  Call the flower part

Tanceipma 3 KecTeHi TOJATHIPbIHBI3
Exercise 3 Fill the table

Plant B L R S F
0 e 0 e |
d a 0 e 0
y Y t d w
f e S S e
0 S r
r
m

Algae

Moss

Fern

Gymno

sperm




Angios
perm

3- 0euaim. Tipi ar3anapabiH KenTypJijiiri. §7

[2]

Takpipbin: CaHbIpayKYJaKTaAp—Tipi ar3ajapabIH epeKile NaTIAJbIFbI
Topic:Kingdom fungi

TancbipMa 1 Ty:KbIpbIM «IIBIHABIK», «KAJFaH » eKeHirH aHbIKTaAHbI3
Exercise 1 True or false

Ne True False
1 Mushrooms -- are also a type of
bacteria
2 The thin , colorless stringe found in
the soil are mycelium
3 The mushroom picker protects the
mushroom from heat and cold
4 Mushroom picker from the soil

water with mineral salts

Tancsipma 2 CaHbIpayKyJaK KYPbLIbICHIHBIH 06J1iIM/IEPiH aTAHbI3
Exercise 2

What are the departments of the mushroom

Tanceipma 3 CypeTTeH Keyre ;KapaM/bl KIHE YJbl CAHBIPAYKYJIAKTAPAbI
a)l(blpaTI)leB.
Exercise 3 Divide mushrooms into edible and non edible




non edible

3- 6eJiim. Tipi ar3anapabiH KeNTYpJIiiri.

Takpipbin:./JlapaxapHaKThI )KOHe KOCKAPHAKTBI 6CiMIiKTEp
Topic :Monocots and dicots

Tanceipma 1 Koc:kapHaKTbl KoHe Japa’kapHaKThbl OCIMIIKTepPaiH
epekmeikTepi Oepijired. Tadaunagarsl 00¢ OPbIHABI TOJThIPbIHBI3.
Exercise 1Given the differences between monocots and dicots. Fill the
table.

I?

e | ®




Tanceipma 2 Jlapa XkoHe KOCKAPHAKTHI OCIMIIKTEPAi aKbIPAThIN

JKa3bIHbI3

Exercise 2 Divide these plant by monocots and dicots
A. Monocots
B. Dicots

1.pumpkin

2.watermelon

3.wheat

4.sunflower

5.onion

6.tulip

A B

Tanceipma 3 IIILIHABIK Ma,sKaJFaH 0a?
Exercise 3 True or false

1.Leaves of monocots have parallel veins
2.Wheat is an example of dicots

3.Dicots have two cotyledons

4.Apple is an example of monocots

3 - 0eaim. Tipi arzanapabIH KenTypJijairi
Takpipbin: 7KanyapiapabiH 0acbIM THIITEPi MEH 0JIAPAbIH KJIACTAPbI
Topic: Main classes and types of animals

Tanceipma 1 Cyperreri :KaHyapJjapabl OMBIPTKAJBLIAP KIHE
OMprTKaCBISIlapF a a)KI)IpaTbIHbB
Exercise 1 Divide animal into vertebrates and invertebrates.




vertebrates Invertebrates

Tancbipma 2 IIbIHABIK A, KaFaH 0a?
Exercise 2 True or false

No True False
1 Arthropods have segmented
body,jointed limbs and exoskeleton
2 Chord type has 7 classes
3 Arthropods have a backbone
4 Chordates are any animal that has a
spinal cord

Tanceipma 3 boc OpbIHABI TOJITHIPBIHBI3
Exercise 3 Fill the table.

Kasakmia AFBUIIIBIHILA Opsiciia
abdomen OpIOIIKO
OeJIIIeKTeHIeH CEerMEHTHPOBAHHBIN
cephalothorax TOJIOBOTPY/Ib
Ko-ask limbs
KOKIpeK rpyab
HIasTHTOPI311 crustacea
©pMeKIIi arachnida
insecta HACEKOM
XUTHH chitin XUTUH

4-00a1iM. KopekTeny
TakpipbIObl: ZKaHyapJiapabIH ac KOPBITY Kyiieci
Topic: Digestive system of animals

Tanceipma 1. bepuireH cypeTTeH caHMEH KOpCETUITeH KaybIHKYPTHIHBIH
aCKOPTHIY JKYHECIHIH 06JIIMIEpIH aTa, aFbUILIBIHIIA aTayblH KECTETe TONTHIP

Task 1. From the given picture, name the sections of the digestive tract of thyme
and fill in the English names in the table




Kazakma AFBUINILIHIIA

Tanceipma 2. TemeHzie ac KOPBITY KYHECIHIH KYPbUIbICHI OEpLITEeH

bepinren ceznepai (+) Hemece (-) TaHOamapblH KOJJAAHBII AYPHIC KayanThl TAOBIHIAD
Task 2. The structure of the digestive system is shown below

Use the (+) or (-) characters to find the right answer

MaHbI3bI KAYBIHKYPTHI | CHBIP

A. cinekeit Oe3nepi naiina 0onab!
A. salivary glands were formed

B. ynkeH kKapbIH (MECKApBIH)
B.big belly

C. cinekeii 6aysIp, xKoHE YHKBI 0e31 Oap
C.There is salivary liver, and pancreas

D. eH anram pet cuiekeit 6e31 maiaa 601161
D. For the first time, the salivary glands first appeared

E. )xemcay MeH apHaiibl KaTnaphsl 0ap acka3aH maiiia Oposabl
E the appearance of cramps and a special folded stomach

F. xyilic kaiibipanbl
F The burn is flaky

G.yirabapser 6ap
G has a duodenum

4-60aimM. Kopekrteny.§11
TakpipbiObl: TicTepaiH KYpPbLIbICHI MEH KbI3METI, 0JIAPAbIH THTHEHACHI
Topic: The structure and function of the teeth, their hygiene



Tanceipma 1. BUONOTUAIBIK TUKTAHT

Task 1. Biological dictation
The tooth has three layers ... ..., ... . The function of the tooth is to ... . Beneath the
entrance there is a ... . the first teeth begin to appear in .... months. An adult has ... teeth.
Under the influence of microbes, the ... is damaged
Missed words: chew, cheekbones, dentin, pulp, dentin, 6-9, 32, dentin

Tancbipma 2. TicTiH KYpBUIBICHIH aHBIKTAI, aFbUIIIBIHIIA aTaybIH )Ka3
Task 2. Identify the structure of the tooth and write its English name

TICTIH K¥PbLJIBICBI.

I- mic cayvimeul,
II - mic moiinei,
II1 - mic my®6ipi

Tanceipma 3. TyxbeipeiMaamanapiabiH «biHABIKY >koHE <«OKanFaH» eKeHIH
AHBIKTAHBI3
Task 3. Identify the concepts "Truth" and "False"

The concept Truth False

It is used for biting and chewing teeth, as well as mechanical shaving

The newborn has 3 teeth

Each jaw has 16 teeth

Sick teeth hurt other organs

Under the influence of microbes, the dentin is damaged

The nicotine released during smoking on the teeth and gums causes
more harm

[3]

4-6eJ1im. KopekTteny.
TakpIpbIObI: ATaMHBIH aCKOPBITY )XYUECIHIH KYPBUIBICHI
Topic: The structure of the human digestive system

Tancbipma 1. TeMeHie OepiireH aCKOPBITY KYHECIH COMKECTEHIIpEeMi3



Task 1. We identify the digestive system listed below

1 | tongue A) decrease in blood sugar, the conversion of glucose to glycogen
2 | larynx B) muscular organ located in the oral cavity the largest gland in the
body
3 liver C) the muscular tube, the food goes to the esophagus and then to
the stomach
4 | pancreas D) the largest gland in the body
5 |insulin E) mixed secretion glands
A B C D E

Tancoipma 2. CypeTTe aJaMHBIH acKOPBITY Myllenepl OepulreH, Kas3akilia aTayblH
’Ka3bITI TITBIK

Task 2. The figure shows the digestive organs of the person, write the Kazakh name
Fg:gue /K\ Esophagus

Stomach

-Pancreas
~Pancreatic duct
bile duct ™}

Colon
Transverse colon

| ~Duodenum

4-6eqim. KopekTteny.
TaxkpIpbIObI: AcCKa3aH-111IEK KOJIIAPBIHBIH aypyJIaphl )KOHE TAMAaKTaHy TUTMEHACHI
Topic: Diseases of the gastrointestinal tract and food hygiene

Tanceipma 1. Temenae OepireH KECTeH1 TOATHIPHIHBI3
Task 1. Please fill in the table below

Aypy TypJepi Cunarramacsl

Types of the disease Description

Dysentery
Belly
Cholera
Botulism

Tanceipma 2. CypeTke Kapamn, 1ypbIic TAMaKTaHy MUPAMUIACHIH KypPacThIp
Task 2. Look at the picture and build a healthy eating pyramid




4-60J1im. KopekTeny.

TamakTaHy nupamugacsl

TakbIpbIObI: J[opyMeHep — OapAbIH CUIATTaMachl )KOHE JKIKTEY
Topic: Vitamins - their description and classification

Tanceipma 1. Temene OepuireH JopyMEHIEP/l EPITIIITITIHE Kapal a)KbIPaThIHbI3
Task 1. Separate the vitamins listed below in terms of solubility

C,PP,B,K, DA

Water soluble

Fat soluble

Tancbipma 2. CypeTke Kapar, 1opyMeHIepAl AYPhIC Maiganany Typajbl 3CCE Ka3bIHbI3
Task 2. Look at the picture and write an essay on the proper use of vitamins

5- 0eJtiM. 3aTTapIbIH TACHIMAJIAHYbI
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TaxkbIpbin: AF3aHbIH 11IK1 OpTachl. (KaH, 1uMda, yimna CyHbIKTHIFbI)



’KOHE OHBIH aF3a TYPAKTBUIBIFBIH YCTaynaFrbl MaHbI3bL. JIuMda xyiieci.
Topic: internal environment of the body. (blood, lymph, tissue fluid) and its
Importance in maintaining the body's stability. Lymphatic system.

Tancsipma

Task.

1. Temenae OepijireH yrFbIMAAPAbIH Kaiichbl aF3aHbIH IIIKI OpTachbiHA
JKaTHaMabl:

Which of the following concepts do not apply to the internal environment
of the body:

A. Kan blood;

B. et bile;

C. Tep tions;

J. Jlumdpa lymph

E. Hecen urine;;

XK. yyma cyiisikteirsn tissue fluid:

3. cinmekei saliva..

2. «I'omeocTa3» yrpIMbIHA AaHbIKTaMa Oepin, OHBIH MAaHBI3BIH
CHIIAaTTAaHbI3.

Define the concept of** Homeostasis ** and describe its meaning.

3. Bepisren ceitjiemaepAiH illiHeH KAHHBbIH KbI3MeTiH KOpceTiHi3. COHFbI
Oaranra OeJurisieHis. Specify the blood function from the suggestions.
Check in the last column

Ne Cunarramasiap  Characteristics +,-

1 MaiinapasiH KOPBITBUIFaH KypamOeJiKTepiH
taceiMangaiael. Transports melted oil components

2 lopMonmapae! imiki cekperusi O6e3aepiHeH OyKil ar3ara

tacunel Hormones are transferred from the internal
secretion glands to the entire body

3 KopsITeUTFan HOpYBI3ZAap MEH KeMipcylap/IbIH
OenmiekTepiH FaHa TacbkiManmaiael. Transport only
particles of digested proteins and carbohydrates

4 3usHael 3arTapAbl, OeTeH Oemmektepai cysemi Filters
harmful substances, foreign particles
5 TypaxTsl eHe KbI3ybIH cakTaiiasl Maintains a stable body

temperature




5- 00J1iM. 3aTTapAbIH TACBIMAJIAAHYbI

Takpipbin: KaHHBIH KypaMbl MeH KbI3MeTi

Topic: Blood composition and function
1- Tancbipma. «KaH Kypambl» CbI30aChbIH TOJITHIPHIHBI3.
1-task. Fill the table “ Structure of blood”

v N\

(%) (%)

2-TancbipMa «Jlypbic-OypBIC»  CTpaTerusichl  apKbUIbl  OepuIreH

TY>KBIPBIMJIBIPJIBIH AYPBIC OYPHICTHIHBIH aHBIKTAHBI3.

2- task. Define the correctness and wrongness of definitions by using the
strategy “ Right-wrong”

TyxpIpBIMIAP Jypwic/Oyphic
Definitions Right-wrong

Kan - n1oHekep yIrmachIHbIH TAIIIBIKTHI TYPi
Blood- is textus connectivus

Kan nmna3zmacs! - KaHHBIH MOJIIIP,TYCC13 CYHBIKTBIFbI
Blood plasma- blood’s clear and colorless liquid

[Tra3zma kypamsiaaa 90 - 92% cy Oap
The structure of plasma consists of 90-92% water

[Tnazma Kypambiaga 7-8 HOpybI3 Oap
The structure of plasma consists of 7-8 plasma proteins

[Tnasmana r1o0ynuH,anb0yMHUH,UOPUHOTEH JeN aTajaTblH
HOpybI3Jiap TOObI Oap

Plasma consisists of globulin, albumin, fibrinogen groups of
proteins

@uOpHUHOTeH HOPYBI3HI MJIa3Ma/IaFbl Cy MOJIIEPiH peTTen/ Il
The fibrinogen corrects the amount of water in the plasma

TpOM6OI_II/ITTep KaH IIaCTUHKAJIApbI ACII TC aTaﬁﬂBI
Platelets are also called blood plates

(DI/I6pI/IHOF eH,[[i JKOK KaH IIJTa3MacChbl CapbICy ACII aTaJIaJibl
Blood plasma that doesn’t contain fibrinogen is called serum

3 - Tancpipma. ColiKeCTeHAIPIHI3.
3 task. Matching

| Kau nuia3smachiHbIH | ATKapaThIH KbI3MeTi




Kypambl Function

Structure of blood

plasma

1. Ans0ymunICp A.KaHHbIH yIOBbIHA KATHICAIbI
Albumins Participates in blood clotting

2.DubpuHoreH

b.A¥3aHbl 3usHIBI MUKpOAF3a1apaad KOpFailasl

Fibrinogen Protects body from dangerous microorganisms
3.Cy B.Ar3anbI SHEprUsIMEH KaMTaMachl3 eTel
water Provides body with energy

4.I'nmoOynunHaep I".Ar3ana epireH 3aTTapbl TACKIMAJI 1Al bl
Globulin Transfers things that melted in the body
5.rioKo03a J.ITazmManarsl Cy MeJIIEPiH peTTei i

Glucose Corrects the amount of water in the plasma

5- 0eJtiM. 3aTTapAbIH TACHIMAJAAHYbI

Takpipbin | UMMyHuTeT. UMMYHUTETTIH TYpJepi: Tya maiia OOJFaH *KoHE
Kype mnaijga OojiFaH MMMYHHUTET. EKIeHIH TypJiiepl KoHE OHBI KacaHbl
I/IMMYHI/ITGTTi KaJIBIIITACTBIPpYAdarbl MAaHBI3bI.

Topic: Immune System. Types of immunity: natural and artificial immunity.
Types of vaccinations and it’s importance in the formation of an artificial
immune system.

Tanceipma

1. AypyxaHara WTTIH 1a0yblUIbIHA YIIbIpaFraH OKYIIbl OipIiliamMa yakbITKa
Kemnrin kemin TycTi. TeKCepiCTIH HOTHXKECIHJE JKaHyapia KyTbIpMma
aypybIHBIH BUPYChI aHBIKTaAbl. ByJl jkaFAaiiia OKylIbIFa €HT131ITeH BaKIMHA
keMmekTecneial. Ce0eOiH TYCIHAIpIMN ka3

Task

1. A student was admitted to the hospital with a suspected dog attack and was
delayed for some time. As a result of the examination, the animal was found to
have a rabies virus. In this case, the student is not helped by the injected
vaccine. Summer with an explanation of the reason [4]




2. UMMyHHUTETTIH TYpJiepiH caabIcThIpbIHbI3. Compare the types of

Immunity.
benrinepi Taburu JKacan sl
Features Natural Artificial

bapneik amampa OGipaeit
6omansl Allow all people

MeauuuHanelKk — Ipenapa
parTapjaH COH Tnaija
Oomagel  Appear after
medical preparations

I'enerukansik Genetic

bip aypymen aysipran

COH KaJIbIIITCAaAbl
Formalize  after  one
illness

Ready-made antibodies
Anam aybIPMaNThIH

aypynapra Kapcbl Against
non-human diseases

Aypy  KO3ABIPFBILITApPbI
apHaiibl  JKYKTBIPBUIFaH
The causative agents of
disease especially
infected

3. Temenae Oepiiren ce3aepial KOJIAHA  OTBIPBIN, MITIHAI
TOJBIKTBIPBIHbI3.
Fill in the text using the words below.

NMMyHUTET KYOBUIBICHIH .... aJIyaH TypJiepl KaMTaMachl3 €Te/Il.
.... ApHAWBI HOPYBI3JAp — aHTUACHENEP/l Kacaibl. byl — .... UMMyHHTET.
Cappicy aHTHJICHEIIEp1 a3 YaKbITKa 9Cep €Te/ll, COHJIBIKTaH OYJI .... HIMMYHHUTET
JeT ataiaipl. ..... OYJI TIPIIUTIT] JKOMBUIFAH HEMECe OJICI3ICHIIPUITEH aypy
KO3/IbIPFBIILLIHI.
Enxap, B-nmumdouurrep, BakiuHa, JCUKOIUT, )KACYIIAIBIK.
The phenomenon of immunity .... provides various views.
... creates special proteins-antibodies. It -.... immunity.
Serum antibodies affect for a while, so this .... it's called immunity. ..... itisa
pathogen that has been destroyed or weakened.
Intoxication, B-lymphocytes, vaccine, leukocyte, cellular.

5-06J1iM. 3aTTapABIH TACHIMAJIAHYbI
TakpipbIObl: JKyKnaabl aypyJap xIHe 0J1apAbIH AJ/IbIH a1y



Topic: Infectious diseases and their prevention

Tanceipma 1.  JKyxnanisl

aypylap MEH OHBIH KO3JbIPFBIIITAPBIH

CoMKeCTeHIIPIHI3
Task 1. Find the correspondence of infectious diseases and their causative
agents
1 Kapanaiisimaap A Hudrepust
TYBIHIATATHIH aypyJjiap Diphtheria
Diseases caused by
protozoa
2 CanpipayKyJsiaKrap B I'epnec
TYBIHIATATHIH aypyJap Herpes
Fungal diseases
3 baktepusinap TyblHAATaTHIH C dutodTopos
aypynap Late blight
Diseases caused by bacteria
4 Bupycrap xo3asipaTbiH D Awmeba
virus disease JIM3CHTEPHSICHI
Dysenterin
amoeba
Tanceipma 2. KecTeHi TOATBIPBIHBIZ.
Task 2. Fill the table
Ko3apiprbiin 3aKbIMIANTHIH benrinepi
Pathogen OpHBI Symptoms of colitis
Place of
damage
Jleitmmanus
Leishmania
Jusenrepus
ame0acsl
Dysenterin
amoeba
Xogepa
Cholera

Tancbipma 3. Baknuna Oejriiepin cunaTranbi3

Task 3. Describe the signs of the vaccine.

Bearinep
Signs

Baknuna
Vaccine

Kanpaii MakcatmeH erinemi?
How does the vaccine get vaccinated?

Kanmait IMMYHHUTETTIH TYp1 KaJabllTacaabl?
How does the immunity form a vaccine?




Bakiuaamen mnpoduiakThKa jKacajJaThIH aypysap
Typi

Type of care, the caregiver may need to be
vaccinated with the vaccine

Tanceipma 4. He cedenten agaM TymayMeH OipHelle KailTapa aybIpajabl,
aJI KbI3bLIIIAMEH eMipinjae Oipak per aybipaabl. Tycinaipinis.

Task 4. Explain why a person and a sore throat can get sick many times, and
chickenpox - once in a lifetime?

TakpIpbin: KaH Tonrapsl :xdHe KaH KYI0
Topic: Blood type and blood transfusion
1-tanceipa. TepmuHaepre anbikTama OepiHi3:
1-task. Write definitions for the following terms:
v’ ArnnortuHanys —
Agglutination-

v' Pesyc — dakrop —
Rh-factor

v ATTITIOTUHOTEH —
Agglutinogen-

v ATTJIFOTUHUH —
Agglutinin-
v’ JloHop —

Donor-



v Penunuent —
Recipient-

2-tancbipMa. Kan TonrapeiHa KaTBICTHI KeJeCl TYKBIPBIMIAPIBIH KAHCHICHI
IYPBIC, KAWCBICHI IYPBIC EMEC €KEHIH aHBIKTaHBI3.
2-task.Decide which of the following statements are true and which are false.

TyXKbIpBIMAAP JlypsIC Hypbic
true eMec
false

PenumuenT — kaH OepeTiH ar3a.
Recipient — body that gives another body tissue
(organ) or blood for transfusion.

JloHOp — KaH KaOBUIIANUTBIH aF3a.
Donor — organism, accepting someone else's
blood, organ or tissue.

ATTIIOTHHUHIACD arJUTFOTHHOTCH ISP T
XaObICTBIPY KabineTiHe ue.

Agglutinins  have the ability to bond
agglutinogens.

Rh*-” — amammapra texk Rh“+” kaHbIH Kyto
KaXKeT.
Rh“-” — people should be transfused only in
Rh“_'_”'
Erep, anaceinga Rh“-” Oonbim, an, ypmakra

Rh“+” nambica, aHacel aHTHJIeHenep Tys3in, Oana
TeMOJIUTUKAIBIK aypyMEH TybUIaabl (TepiCiHiH
arnesbCHH TYCTEC).

If mother is Rh "-", and the fetus develops Rh "+"
- the mother produces antibodies and the child is
born with hemolytic disease (orange skin color).

Il TonTeiH KaubiH || Hemece |V TonThiH KaHbI Oap
ajgamiapra Kyrora 00Jabl.
Blood of group Il can be transfused to people
with 1l or IV blood group.

Kan T1oObl MeH pe3yc-(hakTOpIblH  TYKbIM
Kyanaysl 01p-0ipiHe Tayesici3 Kypel.

Inheritance of blood type and Rh factor occurs
independently from each other.




3-tancbipMa. bepinren skayan HycKajgapblHbIH Kaiceichl cotikec 1, II, III, IV
HOpYBI3AapblHa,

KaH TOIITAPBIHBIH

PUTPOIUT

HIOPYbI3AApPbIHA KATATBIHABIFbIH AHBIKTAHBI3.

3-task. Decide which is of the given answers belong to erythrocyte

proteins

and which to plasma proteins.

KaNCBICHI

ATTIIOTUHOTEHAEp ATTIIOTUHOTEHED
Agglutinogens Agglutinins

Kan 10651 OpUTpOoLUT [Tna3zma

Blood group HOPYBI3IaphI HOPYBI3aphI
Erythrocyte Plasma proteins
proteins

I

1

Il

v

O A A B B e O

B @)

4-tancpipma. TeMeHAe KOPCETUITEH CYpaKTapiAblH Oip IyphIC kayaOblH

TaHOaHBbI3.

4-task. Choose the one correct answer in the questions below.
1. — YPUTPOLUTTEP/IIH Y10 (3KaObICY) yaepic

d. aIrTJITHHalOus
agglutination

b. nperunuranus
precipitation

C. aKKOMOJanus
accomodation

d. amarnranus
adaptation

2. Pesyc-axTop anram per

a.MalMBUIIBIH

— the process of clotting (sludging) of erythrocytes.

KaHbIHAH TaOBLIIbI.
Rh-factor was first detected in the blood of:

Ijiasma




monkey
b.agamMHBIH

human
C.CTeYKYUPBIKTHIH rat
d.cycupIpbIH

hippopotamus
3. Anamna TYPJTi KaH TOOBI 00T Ibl.
People have different blood groups.
a.l
b.5
cd
d.3
4, — KaH KaObUIIANTHIH ar3a.

— body that takes someone else's blood, organ or tissue.

a.JJ0HOP

donor
b.BoonTEp

volunteer
C.peLII/IHHeHT

recipient
d.epikTi agam

voluntary person

5.1 TonThIH KaHbI Oap agamaap — ombedan
People with blood group | are universal
a.JI0HOP
donor
b.pesyc-daxTopaap
Rh-factor
C.pELIMIIUEHT
recipient
d.arrmoTuHUHACD
agglutinins

5-06J1iM. 3aTTapABIH TACHIMAJIAAHYbI

TaxkpippiObl: KaH TaMbIpiapbl KYyHeciHIH TypJepl >KOHE KaH ailHaJlIbIM
meHoepepi

Topic: Types of the circulatory system and blood circulation



Tanceipma 1. Cyperre anaMm SKYperiHIH KYpPbUIBICHIHBIH ChI30achI
kepceTuiredH. OHAAFrbl KaHAall opiNTep OH XOHE COJ JKaK JKYypeKuienep
OenriaeHrexn?

Task 1. The figure shows a diagram of the structure of the human heart.
What letters on it designate the right and left atrium?

Tancbipma 2. AHATOMUSIIBIK TUKTAHT
Task 2. Anatomical dictation
KanaitHanbiM KyHeciHiH opTaiblK Myliect.....KanaliHanbsIM KyileciHaeri eH

1pl KaHTaMBbIp...... nen arananel. EH ycak KaHTameIpiap - ...... bapnbixk
BEHaJAp....)KoHE....ien OemiHenl. KaH KbICBIMBI KOFapbl OOJFaH/A.... TAMUIBIL.
Kan KpICBIMBI TOMeH OoJsiFaHna.... JaMUIbl. ApTepus KaHTaMbIPhI

JKapakKaTTaHraHa KaH..... OO0JIBIII arajbl. KaHHBIH TYCi ...... 6OJIaI[I>I. A1 BeHa
TaMBIPbI KapakaTTaHFaHJla KAHHBIH TYCl..... 007abl.

The center of the circulatory system is........ The largest vessel of the
circulatory system is called...... The smallest vesse..... All veins are usually
divided into...and..... With high blood pressure develops........ With low blood
pressure develops..... Wound of the arteries gives bleeding in the form of.......
Flowing blood.... When veins are injured, blood is colored......

Tanceipma 3 (I). Erepae amamMHbIH KaHBIHBIH TOOBI OlpiHIII OOJIBIN, OFaH
EKIHIII KaH TOOBIH Kylca 0J1 afaMMeH He 0oaabi?

Task 3 (I). Indicate what will happen to the person who received the Il blood
group if he has I.

a. OH yMpET

he will die

b. Oyner uyBcTBOBaTH CeOsl, KAk OOBIUHO

will feel as usual

C. €My CTaHEeT IUIOXO

he will feel bad

Tancoipma 3 (II). Kannaii sxarmaiiia >KyKTi aHaHbIH Oajia KOTEPTreH Ke3iHJe
pe3yc coiikecci3/iK O0JaThIHBIH KOPCETIHI3.



Task 3 (II). Indicate in which case the pregnant mother will have a

Rhesus conflict with the bearing child.

erep aHachl MeH OaJlachIHBIH Rh  dakTopsr Tepic 0Oosca
if the mother and child have a negative Rh factor

erep aHacel OH Oo0JjbIm, an OamanbiH Rh Tepic ¢akroper Ooiica
if the mother is positive, and the child has a negative Rh factor

erep aHachlHaa Tepic Ooubln, an OamacelHbiH Rh oH dakropsl Oonca
if the mother is negative, and the child has a positive Rh factor [3]

Tancsipma 4. KecteHi TOITHIPBIHBI3.
Task 4. Fill the table

Tox kpoBu Ynken Kimri

KannsbiH arysl KaHallHaJIbIM KaHalHaJIbIM
Blood flow neHoepi neHoepi

Big circle Small circle
blood blood
circulation circulation

Kypexrin xaii Oemiringe
Oacranamsl

In which part of the heart
begins

KypekTiH kaii OediriHae
asgKTaIagb
What part of the heart ends

Kanunnspnap
Capillaries

Kanpmaii kan aprepusmeH
araJbl

What kind of blood moves
through the arteries

Kanmait kaH BeHaMeH arajibl
What kind of blood moves
through the veins

5- 06J1iM. 3aTTapAbIH TACHIMAJIAHYbI
TaxkpipbIObI: 7KypeKk-KaH TaMbIPJIApbI KYHECIHIH aypyJiapsbl.
Topic: Diseases of the cardiovascular system.

Tancbipma 1. JKypek-kaH TambIpiiap aypyJiapblH aHBIKTAMAaCbIMEH IYPBIC
CoMKeCTeHIIPiHI3.
Task 1. Correctly match the definition of cardiovascular disease.

Ne Disease Definition

1 Infarction A. Deterioration of blood




supply to the heart muscle.

2 Stroke B. Persistent  high  blood
pressure.

3 Coronary heart C B. Rupture of blood vessels

disease in the myocardium.

4 Hypertension D. bleeding in the brain.

5 Atherosclerosis E. Lesion of the arteries, in
which numerous plaques
appear on their inner
surface

1 2 3 4 5

Tanceipma 2. bepiireH TYXbIpbIMAaMalapAblH «IIBIHJBIK» JKOHE (GKaJFaH»
€KEHIH aHBIKTaHbI3.
Task 2. Find out if these concepts are “true” or “false”

No The concepts T F

1 Constant physical activity and physical
education contribute to the development
and strengthening of the heart muscle.

2 Nicotine causes a narrowing of blood
vessels.

3 Hypodynamia does not affect the work of
the heart and blood vessels.

4 When smoking cigarettes, nerves calm
down, stress is relieved.

5 To prevent atherosclerosis, animal fats
should be excluded from the diet and more
vegetables and fruits should be consumed.

6 Lifestyle does not affect a person’s life

expectancy.

Tanceipma 2. CypetTe OepiireH KaH TaMbIpJIapbliH aHBIKTaHbI3.
Task 2. Identify the vessels shown in the figure.




6-00,1iM. ThIHBIC a1y
Takpipbin: ['a3 anmacy
Topic: Gas exchange

Tanceipma 1. TeiHBIC a1y MYyIIENIEpiH aTa.
Task 1. Term the respiratory organs.

Ne ThIHBIC a1y MYLIECiHiH aTaybl
Name of the respiratory organ

1

2

3

4

5

6

7

8

9

Tanceipma 2. CoiikecTeHaip.
Task 2. Match.

. TeIHBIC asTFaHIAFRI Ta3aap MOJIIIIEPi:

Gas volume during inspiration:
N2 20,95%
02 0,03%
CO2 and other gases 78,09%

TwIHBIC TIBIFApFAHAFHI Ta37ap MOJIIIEpI:
Expiratory gas volume:




. N2 . 4%

. 02 . 78,09%

. CO2 and other gases . 16%

Tancsipma 3. TrIHBIC anmy MYILIETIEPiHIH PETIH aHBIKTA.
Task 3. Determine the order of the respiratory organs.

ThHIHBIC aJIy MYLLIECiHIH aTaybl Ne
Name of the respiratory organ

Kenipnex

bponxsuiap

Okrnenep

Bponxbl TapMakiaiapsl MEH ajibBeoJIaIap

Kewment

MypBbIH KYBICBI

Kowmekeit

Tanceipma 4. TeMenneri cumarramanapJblH Kal Ta3fa COMKec KeJCTIHIH
AdHBbIKTA.

Task 4. Determine which gas has the following characteristics.

. Kanmnsinapnap kaOblprajiapbl apKbUIbl YIIIAa CYUBIKTBIFBIHA OTEI].
Through the walls of the capillaries passes into the tissue fluid.

. ¥nna skacymanapblHaH jKacyllaapaliblK CYHUBIKTBIKKA/KaHFa ©TEeI].
Transfer from tissue cells to intracellular fluid / blood.

. DHepus any YIIiH MUTOXOHApUSIApAa KOJAaHbLIaIbI.

Used in mitochondria to generate energy.

. Hene xacymanapbl MeMOpaHachl apKbUIbl OJIAPJBIH IUTOIIA3MaChiHA
OTE/Il.

Enters cytoplasm through the membrane of body cells

. Bena xansigga 0osagsl.

It is in the blood of a vein.

Ta3 02 CO2
Gas

Ne

Tanceipma 5. BpouxbinapaeH KypaMm 0eJIIKTEpiH ara.
Task 5. Term the component parts of the bronchi.



Ne ThIHBIC aJTy MYLIECIHIH aTaybl
Name of the respiratory organ

Tancbipma 6. MoTtiHaeri cangap OpHbIHA CO3/EpAl KOH.
Task 6. Insert words instead of numbers in the text.

(1) CO2 ra3eia Oepin, O2 Kochill anagsl. ['a3 anMacy (2) KaObIpFachl >kKoHE
BEHA KamuJULIpJIapbl apKbUIbl Kypei. AnbBeonanap (3) ayJaHbH YJIFaUTHIII,
VSAIIBIK TOp13A1 skacaiiipl. O apKbUIbI (4) XKype/l.

(1) delivers CO2 and adds O2. Gas exchange occurs through the wall of (2)
and capillaries. The alveoli increase the surface area of (3) and give them
shape of a nest. It allows (4) to occur. [5]

6-0e.iM. ThIHBIC a1y

Takpipbin: TeIHBIC ally KoHE THIHBIC aly MexaHu3Mjepl. Keyne KybIChIHBIH
MEXaHH3MI.

Topic: Respiratory and respiratory mechanisms. Mechanism of the chest
cavity.

Tanceipma 1. Tepmunaepre ansikrama oep.
Task 1. Give the definition of the terms.

Tepmun Term AnpikTama Definition
XemoperenTop
Chemoreceptor




Keker
Diaphragm

Keynemik
TBIHBIC ALy
Thoracic
breathing

Kypcakrbik
TBHIHBIC ATy

Abdominal
breathing

Tancbipma 2. KecTeHi TOATHIp.
Task 2. Fill in the table.

Keynemix  TBIHBIC KypcakTsIK ThIHBIC
any any
Thoracic breathing Abdominal
breathing
AMBIPMAIIBLIBIK
The difference
¥KcacThIK
Similarity
Tancbipma 3. CypeTtke cunarrama oep.
Task 3. Describe the picture.
breathing in breathing out '
\ |
chest %
expands - \ Q
‘55*—-__\/ f’z—)} \
\\&*T / | 7 = 2
diaphragm . | s " Y - ‘
dlaphragm —-’/ ".;; i ,g
| relaxes
ThIHBIC a1y ThIHBIC LIBIFAPY
Breathing in Breathing out
Tancbipma 4. TeMeHier1 yACpiCTEPAiH PETIH aHBIKTA.
Task 4. Determine the order of the following processes.
Yaepic Ne

The process

BynmsikeTke komanaa 6epineni
The muscle is given a command

OkIienie KbICHIM TOMEH/ICH 1, aya aiiianaasl

The pressure in the lungs decreases and the air is




pumped

Kanga CO2 apranbt
The amount of CO2 increases in the blood

Ko3y TeIHbIC OpTalbiFeiHa Oepineai
Excitation is transmitted to the respiratory center

AKmapat eHzenesi
The information is processed

XeMoperentopiapaa Ko3y naiaa 6onaast
Excitation appears in chemoreceptors

bynmbIKeTTEp JKUBIPBUIBIN, KEyIe KacyllajJapbIHbIH
KOJIeM1 YJIFasi bl

The muscles contract and the breast cells increase in
size

Tanceipma S. Kopransiin peduiekctepine cumnarrama oep.
Task 5. Describe the protective reflexes.

Tancbipma 6. MoTtiHaeri cangap OpHbIHA CO37EpAl KOH.

Task 6. Insert words instead of numbers in the text.

TrIHBIC OpTaJIbIFbIHBIH XYMBIChIHA KaHHBbIH XUMUAJIBIK KYPaMBI Ja 9CCP CTGI[i.
Kangarsl (1) KOHIICHTPAUSACHIHBIH apTybI THIHBIC OPTAJIBIFBIH KO3AbIpaabl 14,
(2) xwuinewai. (1) ra3bpIHBIH KOHIIGHTPAIIMACH HEFYPJIBIM SKOFapbl 0oica,
THIHBIC Aty COFYPJIbIM (3). COHBIMEH KaTap THIHBIC aTybIH KUUICHYIHE KaHFa
(4) - OyiipekycTi Oe3iHIH TOPMOHBI MEH KeHOip 3aTTapiblH TYCyi Je acep
eTe/l.

The work of the respiratory center is also affected by the chemical
composition of the blood. An increase of (1) concentration in the blood
triggers the respiratory center and (2) becomes more frequent. The higher (1)
concentration, the (3) the respiration rate. At the same time, respiratory rate is
also affected by the release of (4) — the hormone of the adrenal glands and
certain substances into the blood.

6 - 0eJim. ThIHBIC a1y
TakpIpbin: OKIe )KYMBICBIHBIH KOPCETKIIITEPi. THIHBIC ay TUTHEHACHI.
Topic: Indicators of lung function. Respiratory hygiene.

Tanceipma 1. Tepmunaepre ansikTama oep.



Task 1. Give the definition of the terms.

Tepmun AHBIKTaMAa
Term Definition

oTC
Lung capacity

Cnupometp
Spirometer

TeIHBIC Ty KOJeMi
Respiratory volume

AyaHbIH KOCBIMIIIA
KeJieMi
Extra volume of air

Tanceipma 2. CoiikecTeHaip.
Task 2. Match.

medium pulmonary capacity of a person with
good physical development

. Oitennepae oprama OTC 6-7,5 1

medium pulmonary capacity of women . 3,570

. XX ¥ ep anamaa oprama OTC . 3500 cM™3
medium pulmonary capacity of XX century

men

. Ep anampapna oprama ©OTC . 51
medium pulmonary capacity of men . 2,7 n

. JleHe mamybl jKaKChl JKETUITEH ajamja . 2700 cm™3
oTC

Tanceipma 3. CypeTke curnarrama 6ep.
Task 3. Describe the picture.

Ne Okneneri THIHBIC Ay KeJeMiHiH

e3epyi

in the lungs

Changes in the respiratory volume

AIWIN|F

Tanceipma 4. Kecteni ToaTsip.




Task 4. Fill in the table.

ThIHBIC any AyanbiH K Extra
KeJ1eMi volume of air
Respiratory OCBHIMIIIA KoJIeMi
volume

AWBIpMAIIBLIBIK

The difference

YKcacTLIK

Similarity

Tanceipma 5. ThIHBIC aly KO3FAJIBICTAPBIHBIH CaHbl XOHE | MHUHYTTaFrbl
KeJieMiHe cumaTTama oep.

Task 5. Describe the number of respiratory movements and volume in 1
minute.

Tancbipma 6. Motinaeri canaap opHbIHA CO3EpAl KOH.
Task 6. Insert words instead of numbers in the text.

(1) — Oy azamM KaJbINTHl THIHBIC IIBIFAPFAHHAH KEWiH NIBIFAPAThIH aya
Meuiepi. KanbIThl THIHBIC aJlFaH Ke3/1€ OKMeMi3eri OapiblK ayaHbl IIaFapblil
TacTayra ThIpbICTIAWMBI3. OJETTE KOpJarbl keyieM (2) nutpal Kypaiasl.(3) —
azaM KalTbic OOJIFaHHAH KeHiH e eKmeAe KajdaThlH aya wmesmepi. On
mamMameH (4) autp 0oassl.

(1) is the amount of air that a person exhales after normal breathing. During
normal breathing, we do not try to squeeze all the air out of our lungs. Usually
the stock is (2) liters. (3) is the amount of air that remains in the lungs after the
death. It is about (4) liter. [4]

/- 0esim. BeJiin mbIFapy
TakpIpbiObI: bein msirapy
Topic: Excretion

Tanceipma 1. CyperTeri canaapra colikec MyIlIeliep KOPCETUITreH HYCKAaChIH
TaHJ1a
Task 1. Look at the picture and choose the right answer



I. A/ 1-Hecenarap, 2-0yiipek, 3-Hecen K0bl,4-KybIK
1-Ureter, 2-Kidneys ,3-Urethra ,4-Bladder
B/ 1-6yiipek, 2-Hecenarap, 3-KybIK, 4-HECETI KOJIbI
1- Kidneys,2- Ureter,3- Bladder,4- Urethra
C/ 1-necemnarap, 2-0yipek, 3-KybIK, 4-HECeIl KOJIbI
1- Ureter, 2-Kidneys,3- Bladder,4- Urethra
J1/ 1-6yiipek, 2- Hecemnarap, 3-Hecen KOJIbl, 4-KybIK
1—Kidneys,2- Ureter,3- Urethra,4- Bladder

II. A/ I.Omunepmuc, I1.depma, I11. TepiacTsl Maii >kacyHBIFBI

[.Epidermis, I1. Dermis, III.Hypoderms

B/ 1.Tepiactsl maii xacynsirsl 11.Jlepma, 111, Snugepmuc

I.Hypoderms, I1.Dermis,I11. Epidermis

C/ 1.Onunepmuc, I1. Tepiacter mait xxacynbirsl, 1. Jlepma

l. Epidermis,Il. Hypoderms,l1l. Dermis

Tancsipma 2. KecteHi TOnThIp
Task 2. Fill in the table:

Ka3zakma Opbiciia AFbLUIIBIHIIA
bylipek ITouku
Skin
KeMipKbIIKbLT
ra3bl
MoueBas




KHCJIO0Ta

Kanasikrap Waste product

Tancbipma 3. My1enaep MeH 3aT aJIMacyJIbIH COHFbI OHIMJICPIH OaiJIaHBICTHIP
Task 3. Match the words from column(1,2,3,4) to column (A,B,C,D).

1 Lungs, Oxne A Water, soil, Cy,Ty3
2 Liver, baysip B Urea , 3op
3 Skin, Tepi C Carbon dioxide,
KeMipKbIIIKbII Ta3sl
4 Kidney, D Bile pigments,Or
Bytipek MUTMEHTTEPI

Tanceipma 4.OHiIMIEp KOHE KaJABIKTap. boC OpbIHAAPIBI TONTHIP.
Task 4. Production and removal of waste products. Fill in the gaps.

BeJinerin enim Henen Ty3isieni Ar3agan
Highlighed What is formed IIBIFAPbLIAABI
product How is excreted
from the body

KeMipKbIIIKbII
ra3bl
A30TThI bylipek  apKbuIBI
KOCBUIBICTAP 30pMEH

CO2 + H20—

C6H1206 +0O2

baysipna

reMOTIOONHHIH

BIIBIpaybIHAH

8-0eJim. Ko3raabic.buoduszuka
TakpIpbIObl: AaM KaHKACBIHBIH KYPBUIBICHL. TIpeK KUMBUI >KYHECIHIH
MAaHBI3bI
MCH KBI3METI.
Topic: The structure of the human skeleton. The role and function of the
musculoskeletal system.
Tanceipma 1. CypeTke Kapar , KaHKaHbl OeJtiMiepre 0ein, aTaHbl3.
Task 1. Looking at the picture , divide the skeleton into departments and
name them.



Tancbipma 2. ColikecTeHIpiHI3.

Task 2. Matching.

1.bac cyitek Skull

2.Jlene Body

3. ASK JKoHE KOJI
cy#ekTepi

Bones of the foot and
arms

A) Apka OMBIpTKachl
Thoracic vertebrae
B) bexn ombipTKacke!
Lumbar vertebrae
C) Toxkman XUTK  JKOHE WBIK
oenzaeyi
The humerus and forearm
bones
D)Manpnaii sxoHe Tebe cyiieri
Frontal and parietal bone
E) Opran XUTIK XOHE AaCBIKTHI
JKITIK
Femur and tibia
F)Camaii >koHe TOMEHIl JkaK
cyHek
Temporal bones and mandible

Tanceipma 3. Tipek - KUMbUI )KYHECIHIH HEri3ri KbI3METTEPIH aTaHbI3.
Task 3. List the main functions of the musculoskeletal system.

Tanceipma 4.

banannig

CYMETiHeH epecek  ajam

allbIpMalIbUIBIKTapbIH aHbIKTaHbI3: (Ker jkayanTb)

Task 4. Difference between baby bones and adult bones: (several correct

answers)

A) Keiibip HopecTe cyiekTepi imiHapa IMeMipIIeKTeH TYPaIbl
Some baby bones are partly made of cartilage
B) Hopectenepne epecekrepre KaparaHa CyHekTep Korl

CYMEKTepiHIH



Babies have more bones than adults

C) bana cyiiektepi epecekTep/IiH CYHEeKTepiHe KaparaHa HO31K
Baby bones are more fragile than adult bones

D) Bananap ecin keJe »)aTkaHaa cyiekTepi 0ip-OipiHEH ajlaKTau bl
As babies grow their bones separate from one another

E) Epecexrepain 6acTapbiHa )KyMcak gaKTap oap
Adults have soft spots on their heads

F) Epecek amammapasiH cyiekTepiHae Oana cyHeKkTepiHe KaparaHaa CepIiMi
TaJIIIBIKTap KOIl
Old people bones have more elastic fibers than baby bones

G) Epecekrepie Oananapra KaparaHaa CepIiMIi CYHEKTep Ko
Adults have more elastic bones than babies

H) Bamanap ecin Keie *aTKaHIa 0JIapJbIH CyHeKTepi Oipirim KkeTei
As babies grow, their bones fuse together [5]

8-0eJ1im. Ko3raabic.buoduszuka

TakpipbiObl: CyHEKTIH MaKpO KoHE MUKPOCKOMUSIIBIK KYPhUIBICHL. CYHEKTIH
XUMHUAJIBIK KYPAMBI.

Topic: Macro and microscopic structure of the bone. Chemical composition
of bone.

Tanceipma 1. «+» Oenricii KOK apKbUIbl CYMEKTIH KACHETTEpIH Tayblll,
KECTEHI T OJITBIPBIHBI3.

Task 1. Find the bone properties by filling the "+" sign and fill in the table.

Cyiiek Typiepi Ky#aipinr Kanpruiiciznenaipin Kaunbim
Bone €H Cyliek reH THI
Fried Vinegar bone cyiex
Kacuerrep bone Normal
i bone
Properties
CBIHFBIIUIT
BIK
Fragility
Cepnimain
K
Elasticity
KarTeuibik
Stiffness

Tanceipma 2. bepinren TyxbsipeiMaapasiH «IsmHABIKY HeMece «Kamran»
E€KEHIIT1H TaObIHbI3.



Task 2. Find out if the statements are «True» or «False.»
1. Cyiiekrep OipHeliie Kacyila TUIIIHEH TYPaJibl.
Bones consist of several types of cells.
2. Ocinainepi 0ap moMajak HeMece Comakiia )acyiaiap- octeodacTap.
Round or oval cells with appendages — osteoblasts.
3. Cyiiek skacylanapbIHbIH YIIIHII TUI — OCMEoKIacmap.
The third type of bone cells is osteoclasts.
4. CyiiekTep OpraHUKalbIK jKoHE OEHOPraHUKAIIBIK 3aTTapAaH TYPaIbl.
Bones are made up of organic and inorganic substances.
5. Ar3aHbIH TOJNBIK cyiiekTeHyi 30—35 jkacta Ky3ere acaibl.
Full bone resorption occurs at the age of 30 to 35 years.

Tanceipma 3. boc OpbIHFa THICTI CO3AEPl KOMBIN Ka3bIHBI3.

Task 3. Fill in the missing words in sentences

Cytiektep OipHelle xacyia TUIIIHEH Typajbl. OnapabIH HET13ri-...

Bones are made up of several types of cells. Their main thing ...

CoHBIMEH KaTap CYWEeK YJIachblHAAa ac,KalblliTaclaraH Kacyuaizap -...
0omanpl.

At the same time, young, immature cells in the bone tissue ...

Cytiiek xacyliaJapblHbIH YIIIHII TUIII-... .

The third type of bone cells ...

8-0eaim. Ko3raabic.buopusunka

TaxkpippiObl: CyliekTiH OalJlaHBIC TUOTEPl: KO3FAIMAWTHIH, JKapTbLIan
KO3FaJIMaJIbl, KO3FaJIMAJIbl.

Topic: Types of bone connections: immovable, semi-movable , movable .

Tanceipma 1. OMBIpTKaTIap bl JKaIFANTHIH OalIaHBIC TYPIH TAOBIHBI3:
Task 1. Type of joint that connects vertebrae:

A)  KapThLIai KO3FaIMalibl C) kosraiMabl
semi movable movable
B) ko3ranMaiThIH D) ynbTpa KO3FaaMalsl
Immovable ultra movable

E) Hdypsic xayan OepiiMerexH
None of the above

Tanceipma 2. Cyiiektep Oip OipiMeH  Kajnaih  OaiiJlaHBICKAHBIH
CaJIBICTBIPBIHBI3?
Task 2. Matching . How are these bones connected to each other?

| Cyiiexrep ‘ baiinansic Typnepi




bac cyiiekTep A)Kosranmaiitein  Immovable
Skull bones B) XKapreuiaii Ko3ranaThIH
Keyne KybICBI Slightly movable
Ribs to the sternum (chest) C) Bipsecken cinip Tendon joint
3. Uik Genmeyi D) Kosramarsin Movable
Humerus to the scapula (shoulder) E) DBaiinansic Oysrabiligament
joint
F) lllemipmiexri Oaiinanbic
Cartilage joint

KayaOnr: 1 5 3
Answer:

Tanceipma 3. CyliekTep/iiH OaliiaHbICy TYPJIEPIH aTaHbI3.
Task 3. What are the types of joint bones?

r x 1

Tanceipma 4 . Temenae 6epiiren cyiekrep OalIaHBICHIH TOMTACTHIPHIHBI3:
Task 4.  Group the following bone compounds:

1.Opran kU1K %oHe acbIKThI K UTiK Femur and tibia

2.Apka ombipTKacel Thoracic vertebrae

3.Toknan k11K oHE UbIK Oenneyl The humerus and forearm bones
4 Manpnaii xoHe To0e cyiteri Frontal and parietal bone

5.ben oMbIpTKacekl umbar vertebrae

Ko3zranmaisl
Movable

JKapTeinai Ko3raaMalibl




Semi-movable

KosranmaiTeiH
Immovable

8-0eJ1im. Ko3raubic.buodusnka

TakbipblObl: BybIHHBIH KypbUIBICEI MEH KbI3MeTTepl. Cyliek OybIHIapbIHBIH

aTKapaTbIH KbI3METIHE Colikec OerimMaenyi.

Topic: The structure and function of the joints. Adaptation of bone joints to
functioning.

Tancbipma 1. CyperTi
naiananplill, OYBIHHBIH KYPBUIbIM
OeJIIKTEepiH aTall, )a3bIHbI3.

Task 1. Using the drawing, name
and write down the structural parts
of the joint.

g b wN PR

Tanceipma 2. Kosranmainbl OybiH
OemiKTepiH TaOBIHBI3 : (KOII KayarThl)
Task 2. Find parts of movable joint: (several correct answers)

A) oGaitnam B) ciuip C) OyIIIBIKe T
Ligament tendom muscle

D) cuHOBHAIBABI CYHBIKTHIK E) kp13b11 Cyliek Kemiri
synovial fluid red bone marrow

F) OybIH KanmbiFel G) memipiek H) capsrl cyiiek kemiri
joint capsule cartilage yellow bone marrow

Tanceipma 3. bepuiren OyblH KOMMIAHEHTTEPIH CYpETTEri CaHaapMeH
CoMKeCTeHIIPiHI3.
Task 3. Match the joint components to the numbers in the picture.

OybIH KYbICBI

articular cavity




CHHOBHAJIb
CYHBIKTBIFbI
synovial fluid

OybIH Oailjiambl

articular ligament

ﬁyLIH KalnubITbl

joint bag

THAJIMH/I meMipiexK

hyaline cartilage

____ OybIH Dacsl

articular head

Tanceipma 4. bepuiren TykbipbiMaamanapabiH «IbHABIKY xoHe «Kanran»
€KEHIH aHBIKTaHbI3.
Task 4. Define the concepts of "True" and "False"

Ne

TyxbIpbIMaaMa

«IIBIHABIK»
True

«Kaaran»
False

BybIH1BI TY3€TiH
cyiiek Oeri ailiHamau
KBUITBIP — THATWH/IL
HIEMipIIIeK
KaOaThIMEH
JKaObLIFaH.
The articular bone
surface is covered
with a mirror-like
shiny hyaline
cartilage.

bybin CaHbUIAYBI
OybIH CYIBIKTBIFbIHA
TOJIBI KYBIC.

The joints openings
into the joint fluid
full cavity.

Bybin KaOBbI
HIeMipIIeK
YIMachIHAH TYPaabl
The articular sheath
consists of cartilage

Tize OyBIHBIH/IA
oprama 3-3,5 ™I
OyblH  CYHBIKTBIFBI
OoJIaIbl.

The knee joint has an
average of 3-5 ml of
joint fluid.

DyblH  CYHBIKTBIFBI




CyJIaFBIIl  KBI3METIH
aTKapazsl

The joint fluid acts
as a dampener

8-0eJim. Ko3raabic.buoduszuka

TakbIpbIObl: BYIIIBIKET YINaNapblHBIH KYPBUIBICHI MEH KbI3MET1 (OipbIHFai
cajaJbl, KeJIJIEHEH KOJIaKThl KaHKa, KOJIJIEHEH YKOJIaKThl KYPEK)

Topic: Structure and function of muscle tissue (single-striated, transverse
striatum, transverse striated heart)

Tanceipma 1.  bepuireH cypeTTeH OYIIIBIKET YINACBIHBIH TYpJIepiH
AHBIKTaHBI3.
Task 1. Identify types of muscle tissue.

Y oy
Color bands Multiple
(striations) Nnuclei

2.
- Z
s P ———
ES
=

Tancbipma 2.ColikecTeHIpiHI3

Task 2

1.bipbIHFaii canaisl A) KYpPEKTiH Heri3ri MaccachlH Kypan bl

2. KemneHeH  KOJAaKTHI B) ki MyIenep/ i KaObIpFachiH Ty3e1i.
KaHKa

3.KenmeHeH  KONAaKTHI C) KOJJICHEH JKOJTAKTaAPHI Oap
KYpeK KacylanapaaH TypaJibl




Tancbeipma 3 . A1aMHBIH 3MOITMOHAJIBI OET QJIIIETI:
An emotional expression is given to a person’s face:
A)bGeT OyIIIIBIKEeTTEPI
Facial muscles
B)mraitnay OymmmsikerTepi
Chewing muscles
C)Teric OWIIIBIKETTED
Smooth muscles
D) kaObipraapaiblK OYJIIIBIKETTED
intercostal muscles
E) xypek OymmbIkeTi
Cardiac muscles [6]

8-0eJim. Kozraabic.buoduszuka

TakpIpbIm: I'mnogunamus. CrIMOATTBIH OY3BbLTYBI KOHE
KaJamakTaOaHIBUIBIKTHIH Taka 00y cedernrepi .

Topic: Hypodynamics.

Appearance disorders and the reasons for the appearance of flatulence.

Tanceipma 1. ['MnoaMHaMUsIHBIH HET13T1 OENTUIEpIH TaObIHbI3.
Task 1 . Find the main signs of hypodynamia

1.2Kypek COFBICBIHBIH KOHE MYJIbCTIH T€3 COFYHI;
Fast heartbeat and pulse;

2.KaH KbICBIMBIHBIH TOMEH OOJIYHI;

Low blood pressure;

3.KaH KbICBIMBIHBIH >KOFapbl OOTYHI;

High blood pressure;

4. IMOITMOHANIIBIK TYPAKCHI3IBIK, KYHTEIEKTIK;
Emotional instability, anxiety

5.KeHin kyiaiH KoTepiHKI OOITYHI.

Have a good mood.

TanceipMma 2. CeIMOATTBIH OY3bLTY TYPJICPIH aTaHbI3.
Task 2. What are the types of postural disorders?
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Tanceipma 3. CypeTke Kapan xKainakraOaHAbUIBIK aybITKYhl Iaiia 607y
cebenTepiH aHBIKTaHBI3.

Task 3. There is a deviation of flatness from the image . Find out the
reasons.

L J o L 4 L J
o0 @°~. =0 @°-,
KAJdbLINTHI maanaxk radGan

Tancbipma 4. Co3/1IKTI Naii1anaHbII

CBIMOATTBIH OY3bLTY TYPJEpPl Typasbl
coillieM KYPacCThIPBIHbI3.

Task 4 . Use the dictionary to compose sentences about the types of disorders
in your appearance.

Coeimbat — Posture

YKanmakrabaunsuislk — Flatfoot

Cxomnmo3s — Scoliosis

Jlopnos — Lordosis

Kudos — Kyphosis

INunogunamus — Physical inactivity [6]

8 - 0eJ1im. Kosraasbic.buopusnka

TakpipbIObl: Tik )Kypyre OalIaHBICTBI aJ1aM KO3FaTybIHBIH OMOMEXaHUKAJIBIK
EPEKIIETIKTEPI.

Topic: Biomechanical features of human movement in connection with
upright

posture.

Tanceipma 1. Tik  xypyre  OaillaHbICTBI  ajaM  KO3FaJIyBIHBIH
OMOMEXaHUKAJIBIK €PEKIIETIKTePIH TYCIHAIPIHI3.

Task 1. Explain the biomechanical features of human motion related to
vertical movement.

Tanceipma 2. JleHeHiH TeMeHErl ChI30amarbl KO3FAIBICHI KE31HACT1 TipeK
HYKTECIH CBI3bII KOPCETIHI3.



Task 2. Draw the reference point when the body moves in the diagram below.
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Tanceipma 3. AngamMHBIH TIK JKYpylH OHMOMexaHMKaMeH OallaHbICThIpaA
TYCIHJIIPIHI3.

Task 3. Explain the relationship of biomechanics with the vertical movement
of man.

9 - 6esim.KoopauHauus ’xoHe peTTesry
TaxkpipbiObl: Kepy MylIeciHiH KYpPbLIBICHI MEH THTHEHACHI.
Topic: The structure and hygiene of the organs of vision.

1. Tanceipma KecTeHi TOATHIP:
1Task Fill in the table:

Kesznin mymenepi Eye organs Kezmeri Activity

Ax xa0eik  The shell AO

Hypunet ka0wik Light shell

Ibrab TOpizai nene Vitreous

Tambipier KaObik ROOt shell

Kez0Oypmarsr Beans

2. CypeTke Kapan Ke3/1iH KYPbLUIbICHIHbIH aTAyJ1apPbIH Ka3y:
2. Write the names of the eye structure in the drawing:



3.Tect cypakrapbiHa :kayan 0ep:
3. Answer the test questions:

1.Ce3iM My1IenepiHiH eKiHIII aTaybl:
1. The second name of the senses:
A)TeIHBIC amy breathing
B)xopransbim Protection
C)itipkeny irritation
J1)ceHCcopIIbIK JKYiie Sensor system
E)pednexc reflex

2. Teneaunap Kepy y3aKThIFbI:
Duration of watching TV:

A) 5 carat 5 hours

B) 2,5-3 carar 2.5-3 hours

C) 6 carar 6 hours

JT) 10 carat 10 hours

E) 6-7 carar 6-7 hours

9 - 6eaim.Koopaunaumus ’koHe perTesty
TakbipbiObl: ECTy MYLIECIHIH KYPbLJIBICHI MEH THTHEHACHI.
Topic: The structure and hygiene of the organs of hearing.

1 Tanceipma CypeTke Kapan KYJaK KYPbUIbIChIH JKa3:
1Task Ear construction picture summer:



2.KecteHi ToATHIP:
2.Fill in the table:

Kyaak 6exaimaepi Kb13meTi
Ear compartments Activity
1.

2.

3.

3.1p10bIc TepoeJtici KaHaai skoaaaH eTeli (TIypbic peTTiIiriH Kepcer):
Through a journey of the sound vibrations (be sure to specify the correct
sequence):

1. Ecry ouel auditory pathway

2. JIsIOBbIC TOJKBIHBI SOUNd wave

3. labbu1 sxaprarbIHBIH TepOeici Vibrations of the drum jumper

4. Xyiike ummynbCiHiH naina ooysl the appearance of a nerve impulse
5.Ecry cyitekmrecinig Tepoenici vibrations of the auditory bone

6. ¥nyneneneri cyibIKTHIKTBIH TepOeiici oscillations of a liquid in the milk

7. Ecty peuentopiapbIHbIH TiTipKeHyi irritation of the auditory receptors

9 - 6eaim.Koopaunamusi ’koHe perreiry
TakpipbiObl: ['OpMOHAAP aAPKBLIBI TYMOPAJIbABLI PETTENY
Topic: Humoral regulation via hormones

1. Tanceipma  Cyperke  Ha3zap
ay/JapbIHbI3.
CypeTke Kapail OTBIpbIT Oe3aepaiH



aTayJIapblH Ka3bIHbI3.

1 Task.Pay attention to the picture.
Write the names of the glands,
following the picture.
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2. KecTeHi TOJTBIP:
2. fill in the table:

DHAOKPUH/TI IK30KPHUH/I Apanac 0e3aep
Endocrine Exocrine Mixed glands

3. be3nep MeH ougapablH KbI3MeTiHIH OY3bLIYBIHAH TYBIHJAaFaH
aypyJiapabl colikecTeHIPiHi3.

3.identify diseases caused by a violation of the function of the glands and their
functions.

1. T'unodus A. KaHTTBI 1adeT
1. Pituitary A. diabetes mellitus
2. Kankanma 6e3 B. epreibxkeitninik
2. thyroid B. angajata
3. Byiipek ycTi 6e3i C. Mukcenema
3. adrenals C. mixedema
4. ¥#Ke! Oe3i D. akpomeranms
4. pancreas D. acromegaly
E. 6azenoB aypysl
E. bazedov's disease
F. anpimTeIk
F. ality




G. kpeTuHU3M
G. cretinism

4. JlorukajpiK TancbIpMaHbl OPbIHAAHBI3.
HayxacTplH MiHE3-KbUIBIFbIHA Kapail KalKaHia Oe3iHiH a3 Hemece
KON MeJIiepae 06JiHIeHIH aHbIKTaHbI3.

Complete the logical task.

Determine whether a small or large amount of the thyroid gland is
secreted, depending on the nature of the patient. [2]

Bipinmi emaenymi
First patient

Exinmi emaemnymi
Second patient

Amryiias, YHKBICBI3BIKIICH
3apjan  Imereai, SMOIUSIIBIK
TYPaKCHI3.
Suffers from irritation,
insomnia, and  emotional
instability.

Enxap, yMKBIIBUI, KOpPIIAFaH
opTara HEMKYpaiJibl Kapanbl, Te3
apuanbl.

Weakness, drowsiness, indifferent
to the environment, quickly tired.

9 - 6eaiMm.KoopauHauus sKoHe peTTesy
TaxkpipbiObI: ’Kbli1y perTeyaeri TepiHiH peo.i.
Topic: The role of skin in thermal regulation.

1Tanceipma. CypeTke Ha3ap ayAapbiHbI3. TepiHiH MaHbBI3bIH CUIIATTAHbI3

Task
1.Generalities

Pay attention to the picture. Describe the value of the skin.




2. CyperTe OepijireH MbIcaJaapAbl NaiajJaHbIN, Tepi KbI3METiHIH ar3a
YIIiH MAHBI3bIH TYCIHAIPiHI3.

2.Using the examples shown in the figure, explain the meaning of skin
function for the body

3.Tect cypakrapbiHa :kayan 0ep:

3. Answer the test questions:

1. Kbty perTeny HETi31HEH Helle YAEPICTeH Typaibl?.

How many processes consist of thermal regulation in the main?

A)?2

B)3

C)4

D)5

E)6

2.Kopiaran opTa TeMIepaTypachiHBIH ©3TepyiHEe KaHJal perenTop sKayarl
oepemi?

Which receptor is responsible for changing the ambient temperature?
A)Mexanopeuentopiaap Mechanoreceptors

B)Tepmopernienrop Thermoreceptor

C)Houumuerrrop The Nociceptor



10 - 6eJiM. 3aTTapABIH TACHIMAIAHYbI
Taxkpipbin: Muto3. Metio3. Muto3 6eH Mel03/1bIH OMOJIOTUSIIIBIK MAHBI3BI
Topic: Mitosis. Meiosis. Biological properties of mitosis and meiosis value

Tanceipma Task
1. Tepmunaepai colikecTeHAIPIMN, kayaObIH TOMEH/IET] IIapIblIapFa Ka3bIHbI3.
Identify the terms and write the answer to the following squares.

1 MuTto3 Mitosis A KBIHBICTBI OOTIHY/IIH HET131
the basis of the separation of
genital types

2 I'amera Gamete B XpoMOCOMa CaHbl ©3repMeH,
aHAJIBIK JKacylazgaH 2 ac
KaCyIIaHbIH TY311yi
chromosome formation of 2
young cells from an egg
without changing the number

3 [TapTeHorenes C YpBIKTaHFaH KYMBIPTKA
Parthenogenesis xacymacel fertilized egg cell
4 Meiio3 Meiosis ji| YpBIKTaHOAFaH JKYMBIPTKA
KacylacblHaH YPBIKTHIH
JaMybl

development of the fetus from
an unfertilized egg

) 3urota Zygote E YBIHBIC JKacylllanapsl
genital cells
Kayaobr:
Answer:
1 2 3 4 S)
2. Temenne OepiireH TYXbIPhIMAAPIAAH MHUTO3, MEHO3 MPOIECTEPIHE TOH

OpEKEeTTEP 11 AaHBIKTAHBI3, KayaObIH KECTETe JKa3bIHbI3.
Determine the actions that are typical for the processes of mitosis, meiosis,
from the following conclusions, write the answer in the table

1. JKbIHBICCHI3 KOOCIOAIH Heri3l 0oabln TaObuIaAbl; it 1S the basis of non-
Permanent reproduction

2. AnHanbIK kacyliaiarbl XxpoMocoma Oipaeit OeminoOeil; the chromosome in
the egg is not allocated in the same way




3. Hotmxecinae ramiouaTsl XpoMocoMalibl TaMeTtanap Tysuieni; the result is
the formation of haploid gametes chromosome

4. Jlene mimmiHi YIFasapl, 3aKbIMIAIFaH >KacylIaJaplblH KaJIblHA KeTy
KyObUTBICH Kypeni; the shape of the body increases, the process of restoring
damaged cells occurs

5. Xempic Kacymanapel KeOiHece KeOerore KaOUIETTI emec, oJap
YpBIKTaHAJIbl, HE TIPIIUTITIH Kosbl;, germ cells are often unable to reproduce,
they are fertilized or destroy vital activity

6. TlammouaTsl XpoMOCOManbl TaMeTalapAblH KOCBUIYbl HOTHXKECIHJE
aJaMHBIH 3UroTackiHga 46 xpomocoma 6omambl; as a result of the fusion of
haploid chromosomal gametes, the human zygote contains 46 chromosomes

7. AnaMHBIH JIEHEeCIHAeT1 Tepi kacyllalapblHia, [IaliTa >k9He ThIpHaKTa Oy
KyOBUIbIC y371Kci3 xkypenl. in the skin cells, hair and nails in the human body,
this phenomenon occurs continuously

Mitosis
Meiosis

3. HemikTeH KBIHBICTHIK YAEpicTEpre MeMo3AbIK OemiHy KaxeT? OWbIHBI3IbI
nonennaexiz. Why is meiotic division into genital processes necessary? Prove
your thoughts [3]

10 - 6eJim. Kebero

TaxkpipbiObI: Tipi ar3anapabid ke0erw TypJiepi

Topic: Propagation types of living organisms

Tancbipma 1. Matin tanceipma: CeiliieMi TOJBIKTBIPBIHbBI3
Task 1. Task text: Insert the words in the sentence:

Reproduction of organisms.

Reproduction is the ability of living things .... (A) their own kind. Distinguish
... (B) type of reproduction. Sexual reproduction involves sex cells .... (C), at
the merger of which is formed ... (D). With ... (E) reproduction, one parent
takes part.

The list of terms:
1. reproduce
2. three



3. two

4. amitosis
5. asexual
6. gametes
7. sexual
8. zygote
A B D E
Tanceipma 2. TepMunaepai coiikecTeHAipiHi3
Task 2. Match terms to their definitions
Term Meaning
1 Sexual A Process of creating new
reproduction individual using one parent
organism
2 Asexual B Process of creating new
reproduction individual using two parent
organisms
3 Gamete C Small growth on surface
of parent breaks off,
resulting in the formation
of two individuals.
4 Fertilization D The joining of gametes to
form a new organism
5 Zygote E Organisms break into two
or more fragments that
develop into a new
individual.
6 Fragmentation F An embryo develops from
an unfertilized cell.
7 Parthenogenesis G Sex cell (in males: sperm;
in females: eggs)
8 Budding H Cell formed during the
fusion of two gamete
1 3 5 6 7

Tancoipma 3. Temenue OepiireH ceilieMaep/ii KbIHBICTBI )KOHE KBIHBICCHI3
Keberore XIKTeH13
Task 3. Classify the sentences below into sexual and asexual reproduction.

Sexual

Asexual

TyxbIpbIMaamaiap:
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Concepts:

Requires 2 parents

Requires 1 parent

Single organism makes an exact copy of itself

Sperm fertilizes egg

Bacteria, some plants and fungi, few animals (sponges)
Offspring are different from parents

Fast and easy, but no genetic variation

Offspring are identical to parent

Used by animals, flowering plants, some fungi

0 Provides genetic variation, but time-consuming

10 - 6es1iM. KoOero
TakpipbiObl: CiopaJjibl 6CiMAIKTEPAIH TIPIMIIIK IUKJII
Topic: Spore bearing plants life cycle

Tanceipma 1. Cyperre kangait eciMaik 6epuireH? Ocbl ©CIMIIKKE TOH 3
OeJridl TaOBIHEI3.

Task 1. Which plant is depicted in the picture? Find 3 characteristics for this
plant

Division

Characteristics

1) small scaly leaves

2) fertilization with water

3) seed propagation

4) fruit formation at the top of the shoot



5) development of a leaf-stem plant from a protonema
6) the presence of a well-developed root system

Tancbipma 2. beniMmen eciMik OeNriiepiH CoMKeCTEHIPIHI3
Task 2. Set the correspondence between the trait of plants and the division

Division Characteristic of plants
1) Bryophyta A) lack of roots
2) A fern B) developed conductive
system
C) spores are formed in
boxes

D) gametophyte prevails
in the development cycle

E) sporophyte prevails
over gametophyte

Write down the numbers in response, arranging them in the order
corresponding to the letters:

Tancoipma 3. KpIpbIKKanblpaKThlH YPBIKTaHYIaH OacTar TIPHIUTIK IUKIIHIH
KE3EHJEPIHIH PETTUIrH aHbIKTaHbl3. JKayanTa caHIapAblH COMKeC peTiH
JKAa3bIHbI3.

Task 3. Establish the follow-up of the stages of the life cycle of the bracken,
starting with fertilization. In the answer, write down the corresponding follow-
up of the numbers.

1) fertilization

2) development of sex cells

3) development of sporangi on leaves

4) rhizome development

5) sprout development

6) the development of spores in sporangia [2]

—> —> -> —> —>

10-6e1iM. Kobero

TakbIpbIObI: ANIBIKTYKBIM/IBI )KOHE JKAOBIKTYKBIMIBI ©CIMIIKTEP/IIH TIPIIUTIK
LIUKJI

Topic: Life cycle of gymnosperms and angiosperms

Tancbipmal. AIIBIKTYKBIMIBI  JKOHE  KAOBIKTYKBIMJIIBI ~ ©CIMIIKTEPIIH
albIPMAaIBUIBIFBIH KOPCETIHI3.

Task 1. Indicate the distinctive features of angiosperms from gymnosperms

| ANBIKTYKBIMIBLIAP ‘ KabdbIKTYKbIMIBLIAP




Gymnosperms Angiosperms

Tancbipma 2. Tect TancelpMasiapblH OpbIHAA
Task 2. Complete test tasks

. TYKbIMHBIH ciopaiaH alubIPMAIIbLIBIFbI

How is a seed different from a spore?

a) Keberore KaThICaIbI Involved in breeding
b) ¥peirbinaa aunocnepm 6omaasl Has a germ and endosperm
C) Kayarmakra JTAMUIbI Molded in boxes
d) KoumaiiceI3 sxarmaitra Te31MI1 Kelei
Most adapted to experiencing adverse conditions
. Kannaii eciMJIiK TYKbIM apKbLIbl KeOeie i
Which plant is propagated by seed?
a) MYKTep MOSS
b) xaparaii Pine
C) KbIpbIKOYBIH fern
d) mnayn crowds
. KaparaiigplH reHepaTuBTI MylIecl
Pine generative organ
a) TambIp oot
b) cabak stem
c) Oypiep cones
d) xeuikanmap  Needles
Tanceipma 3. CoiikecTeHaipiHI3
Task 3. Maitch
1 ANBIKTYKbIM/BLIAP A OpTypiai  dopmabl
Gymnosperms Oomanbr: arari,
Oyra, mana Oyra,
eI TECIH
Different life
forms: trees,
shrubs, herbs
B TyYKBIMBI jKeMiCiH/IE
Oosaasl
Seeds are in the
fruit
2 KaObIKTYKbIMAbLIA C KplmKaHkanbeIpakT




p si  Needles
Angiosperms D OpTypii  dopMasl
JKallbIPaKThI
Different leaf shape
E [y OoJIMaiiIbI
Do not form
flowers
1.
2.

11 - 6eJiM. TYKBIMKYAJAYIIbLIBIK K9HE 03TeprilliTiK 3aHAbLIBIKTAPbI
TakpIpbiObl: TYKbIMKYyanaymibUIbIK KOHE ©3TePTillTIK.
Topic: Heredity and variability

Tanceipma 1. OTOGaChIHHBIH MIEXKIPECIH KYPBIHbI3.
Task 1. My Family Tree

Tancsipma 2. buonorusinsik quktanT. Ce3nep/l aFbUIIIBIH TUTIHE ayAapy.
Task 2. Biological dictation - translate words into english

TYKbIMKYanaywvlavly, — 632epeiumik, — 380AI0YUA,  MYKbIM  KYalaumvlH
o32epeiumix,  MYmMayusivlk, yunecimoi  (KOMOUHamuemix)  JicoHe
MOOUPUKAYUATLIK (MYKbIM KYALAMAUMbIH) 032epeiutmik, Oetlimoeny.

Tanceipma 3. Tepmunaepre anbikTama O€piHi3.
Task 3. Define terms



TykpiMKyanaymbliblk  (Heredity) nerenimis

Osreprimrik  (Variability) ngerenimis

Tanceipma 4 Cypetke kapan 0ak-0ak eCIMJIITIHIH albIpMAaIIbUIbIFbl HEMEH
OalIaHBICTBI €KEHIH TYCIHJIPY.

Task 4. Consider dandelion drawings and explain what the differences in
plants are related to. [6]

12- 6eJiM. TyKbIMKYaJaymIbLIBIK K9HE 03reprilTiK 3aHAbLIBIKTAPbI

TaxkbipbIObl: KonaaH cypeintay
Topic: Artificial selection

Tancbipma 1. Kecte TONTBIpBIHBI3
Task 1. Fill the table

Konman cypeimrayasiH Typiepi - Types Cunarrama —
of manual sorting Haracteristics
1.Makcartcei3 - NO purpose AKakcel  KacueTriH
2.9nicremenik — methodical IpikTey
3.XKamnmaii — Bulk b. ©nci3 gapanap
4. XKexe — Private B. Benrim kacuerrepi
5. Karbmusr - Nice Oap
6.Karevmcer3 - Not bad C. Ipi  monnepnmi
KaJTBIpY
J1. Makcat Koro
I'". MakcarceI3




Tanceipma 2. « MeH cenekironep 00aFaHbpIMIIa» JcCe Kasy.
Task 2.  « If I would be breeders» Essay writing

12 - 6esiM. TYKbIMKYyaJayIBLIBIK K9HE 03rePrilliTiK 3aHAbLIbIKTAPDI.
TakpIpbiObl: MogeHH OCIMIIKTEp MeH YiH KaAHyapJapbIHbIH WIbIFY

OPTAJIBIKTAPBI

Topic: Cultural centers the exit centers plants and animals

Tanceipma 1. KecTeHi TONTHIPBIHBI3.

Task 1. Fill the table

OcimaikTep aTtaybl
Plant name

H_[BIFy OpTaJ'IBIKTapBI aTaYBI
Name the exit centers

1.Kypimi,kaHt KaMBICHIL.JKEMIC-
KOKOHIC
Rice,sugar  cane,  fruit and
vegetables

2.)Kyrepi, ackabak, MaKTa, Kakao
Corn, pumpkin,cotton,cocoa

3.KapTtom, XuH araiibl, )Kep>KaHFakK,
KbI3aHAK
Potatoes, hin tree,peanuts,tomato

Tanceipma 2. MoneHu opTalibIKTap MEH OCIMJIIK aTayiapblH COMKECTeHIIPIHI3
Task 2. Cultural centers men plant name identification

Moanenu opransIKTap - Ocimik arayjapbl-

Cultural centers Plant name Hypsic
JKayarl
Correct
answer

1. Omnrycrik A3sus - A Kaptom - Potatoes

South Asia

2.1lIereic Asus - East b.banan -banana

Asia

3.0HTyCTiK-BaThIc
Asusg- South Western
Asia

B.Makra-cotton
Koxoc-coconut

4. Kepopra TeHi3l -

C.30tiTyH aramsi-Olive

Mediterranean Sea tree
5.AOUCCHHHMS OPTAJIBIFBI J.Kapabunaii-black
— Abyssinia center wheat

6.0pTanslk AMepuka -

I".bunaii- wheat




Central America

7.Aun.(OHTYCTIK XK .Kypim- Rice
Awmepuka)-  And.South
america

E.Cos,tap-  soybeans
millet

K. Ackabak- pumpkin

3.Kant kambIcbI-sugar
cane

.Y pmeOypiirak-beans

Tanceipma 3. XKanyapaap/sl MIBIFY OpTaNbIKTapbl MEH COUKECTEHIIPIHI3
Task 3. Animals the exit centers sopostavlyat identification

A I B r

1.Kepopta TeHi3i - Mediterranean Sea

2. OHrycrik-bateic A3zus- South Western Asia
3.KpITaii-Manait opransirsl - Sino-Malay Center
4.Yuni opraneirsl - Indian center

12- 66J1iM. TyKbIMKYaJaymIbLIBIK K9HE 03reprilliTiK 3aHAbLIbIKTAPbI.
TakpipbiObl: KazakcTaHaarbl cejieKIMS JKeTICTIKTePi.
Topic: Achieving selection in Kazakhstan

Tanceipma 1. ['eHIIK MTHXEHEPUSHBIH YIII XKETICTIKTEPIH aTaHbI3.
Task 1. Name three genetic engineering achievement

lenaik WNHXEHEpUs 1.
JKETICTIKTEPI
Genetic Engineering 2.

Achievement




Tancbipma 2. OnapabplH CUIATTAMCBIH YKa3bIHbI3.( TONTap OOMBIHIIIA)
Task 2. Write down their characteristics (by groups)

Cunarrama- Characteristics

Akbac TykpiM- Kazakh  white-

headed bre

sibeibbbbl blido o flg)

3. Kazaku wmepuoHoC- Kazakh

arharomerinos

itk N ’4,‘:
il

Tanceipma 3. Kazakcran
KETICTIKTEPIHIH COUKECTITTH TaObIHBI3.

FaJIbIMJIaPbIHBIH

CCIICKIIUA  CaJlaCbIHIAarbl

Task 3. to compare the achievement of Kazakhstani scientists in the

growth of selection

1. B.ILKy3emun (V.P. a)
Kuzmin)

KY3IIK onpgai LIBIFAPAb

(autumnwheatbred)

2.H.JLY nonbckas(N.L.

0) ska3ablK Ommai merapasl (brought out




Udolskaya) summer wheat)

3. P.A. Opazaiiues  (R.A. 0)Ka3aK apKapMEepUHOCKOU IIBIFapIbI
Orazaliev) (Kazakh merino ram brought)

4. ®.M. Myxamenkaiuen B) JIOHI1,MAMJIbI TaKbUTIAP/IBI TaMBITTHI
(F.M. Mukhamedxaliev) (developed a grain, oil culture)

5. B. bamemont (W. T')OMS3bI KYHA1 KO IIBIFapabl
Balmont) (soft woolen ram brought out)

13 — 6exim. buocdepa, Dkoxyiie, [Tomymsius

Buoreoneno3aap skoHe oJiapaaFbl JHEPIrus aFrbIMbI

1 Hycka

1. Buoreonenosra xatTaabl:

A) Tek eCIMIIKTEep MEH KOpIllaFaH opTa

B) Tex opranusmaep eMip CypeTiH opTa

C) opranusmiep MEH KOpIllaraH opTa

2. Temenugeri opraHusMaepaiH KaicbIChl OpPMaH JKOKyHeciHae
TYTBHIHYUIbI 00J1bIII TA0BLIAABI?

A) KostHIAp

B) canpipaykyiiakrap

C) 6akrepusiiap

D) ecimaikrep

3. Opra"HukajblK KaJIBIKTAPAbIH MHUHEPAJJIAHYBIHAAFbI 0acTbl peJire
MBbIHAJIAP KATA/bI:

A) penyueHtrep

B) TyTeIHYyIIBLIApFa

C) enuipymiiiep

4. Kaparaii opMaHBIHbIH Heri3ri SJHeprus KeTKizyuiiepi:

A) GakTepusiiap

B) kaparait

C) akys3aap

D) sxoHnikTep

5. Tamak KoHe JHEpPreTUKAJBIK KATBIHACTAP Kail 0OarbpITTa Ky3ere
achIpbLIAJbI:

A) TYTBIHYIIBUIAP - OHIIPYLIIEP - PEAYLEHTTEPP

B) penyuientrep - TYTHIHYIIBUIAP - OHAIPYIILIED

C) ennipymiuiep - TYTBIHYIIBLIAP - PEAYIIEHTTED

Biogeocenoses and energy flows in them
1 Hycka

1. The biogeocenosis includes:

A) only plants and the environment



B) only the environment in which organisms exist

C) organisms and the environment

2. Which of the following organisms is the consumer in the forest ecosystem?
A) hares

B) mushrooms

C) bacteria

D) plants

3. The main role in the mineralization of organic residues belongs to:
A) reducers

B) to consumers

C) producers

4. The main energy suppliers in the pine forest are:

A) bacteria

B) pine

C) proteins

D) insects

5. In what direction are the food and energy relations carried out:

A) consumers - producers - reducers

B) reducers - consumers - producers

C) producers - consumers - reducers

2 HYCKAa

1. Marinaeri 00c kepJjiepi TOJTHIPbIHBI3

OpraHukayiblK 3aTTap MEH O0OIIEHO3/Ibl OHIIPYIILIEp - -----------= . Onap xyH -
------------------ dboTOCHHTE3 TpoLEeCiHe KohgaHaabl. JlailblH OpraHMKaibIK
3aTTapAbl TYTBIHATBIH OPTaHUBMIEP ~  -----=---=-=-=--- Jen  arajajsl.

OpraHuKanplK 3aTTapAblH MUHEpATTAHYbIHIA 0acThl PeJl CaHbIpayKYJIaKTap
MeH OakpeTusiiap 00Jybl MYMKIH TOTBIKCHI3IaHIBIPFBIIIITAPFA TUECLIT.

2. TemeHe KopceTiireHAepAiH KalicbIChbl 0MOJOTMSJIBIK IUKJITE OipHeme
peT KaTbica ajnaabl?

A) KYH DHEPTUsCHI

B) opranukansik 3aTTap

C) XUMUSIIBIK DJIEMEHTTEP

3. EH THiMai JKo:Kyiie:

A) mxyHrim

B) myxut

C) Taiira

4. IKOJOTUAJIBIK KYylieJepliH KAUCbIChI €H TYPAKThI 00JIbIN TA0bLIAAbI?
A) oprama >kaybIH-IIAIIBIHMEH CaJbICTBIPFAHIA JKAYbIH-IIAMIBIH MeJIIIIepi
50%, enpipic 30%, menTi eciMIIKTep caHbl 35% a3aiibl

b) oprama wmemmepMeH canmbICTHIPFaHA >KaybIH-IAMbBIH Medmep: 50%,
enipic 20%, menTi eciIMIIKTEp caHbl 5% a3zaiabl



B) >xayblH-IIAmIbIH MeJIIepl opTamia JeHreiMeH canbicThipranna 50%,
eHipic 25%, menTi eciIMAIKTEp caHbl 25% a3aifibl

2 HyCKAa

1. Fill in the blanks in the text

The producers of organic matter and beocenosis are green plants. They use
solar energy in the process of photosynthesis. Organisms that consume
prepared organic matter are called consumers. The main role in the
mineralization of organic substances belongs to reducers, representatives of
which may be fungi and bacreti.

2. Which of the following can be repeatedly involved in the biological cycle?
A) solar energy

B) organic matter

C) chemical elements

3. The most productive ecosystem is:

A) the jungle

B) the ocean

C) taiga

4. Which of the ecological systems is the most sustainable?

a) the one in which the amount of precipitation decreased by 50% compared
with the average, the production fell by 30%, the number of herbivores by
35%

6) the one in which the amount of precipitation decreased by 50% compared
with the average, the production fell by 20%, the number of herbivores by 5%
B) the one in which the amount of precipitation decreased by 50% compared
with the average, the production fell by 25%, the number of herbivores by
25%

3 HycKa

1. A3BIK-TYJiK Ti30eri KaHaam skaraaiaa 1ypbic KypbuIFan?
a) YKOHBIIIKA - KapaKyHPHIK - 0aKa - THIIIKAH

0) KOHBIIIKA - MBIIXKBIH - THIIIKAH - TYMCBIK

B) MBIIKBIH - THIIIKAH - TYMaH — Oejie

2. 3aTThIH eH a3 MeJIlepi bIAbIpay Ti30eriHe Kail IKOJOTUsUIBIK Kyleae
Kipeni?

a) MIaOBIH/ILIKTHIH OMOIIEHO3bIH/ 1A

0) anmaHbIH OMOIICHO3bIHA

B) TEHI13/11H OMOIIEHO3bIH 1A

3. Jko:Kyiie eHiMaepi:

a) OHBIH OMOMaccachl

0) eHeNTeH 3aTThIH MOJIIIIepi

B) JKbUIbIHA OMOMacca ecyl



4. Ocbl opraHmsMaepaiH KalcbICbl OHAIPYIIi e, TYTHIHYIIbI aa 0o0Ja
ajganpi?

a) YKachlJI €BIIICHA

0) Kipmikieni kediciie

B) KapamaiibiMm ame0a

5. Canpap nupamugachbl HeHi OeiHeeii:

a) op TaMak JIEHTeHiH/Ier1 )KeKe aJamIap CaHBIHBIH KOKETTI apaKaThIHACHI

0) op neHrelne JxereH OMOMacCaHbIH MOJIIEP]

B) a3bIK-TYJIK TI30€T1HIH KYPBUIBIMBI

3 HyCcKa

1. In which case is the food chain properly composed?

a) clover - hawk - bumblebee - mouse

0) clover - bumblebee - mouse - hawk

B) bumblebee - mouse - hawk — clover

2. In which ecosystem does the least amount of matter enter the
decomposition chain?

a) in the biocenosis of the meadow

0) in the biocenosis of the steppe

g) in the biocenosis of the sea

3. Ecosystem products are:

a) its biomass

0) the amount of processed substance

6) biomass increase per year

4. Which of these organisms can take the place of both producer and
consumer?

a) Euglena green

0) ciliates

B) COmmon amoeba

5. What does the pyramid of numbers reflect:

a) the required ratio of the number of individuals at each food level
0) the amount of biomass eaten, at each level

B) the structure of the food chain

buocgepanbin Kypambl MeH QYHKUMAIAPBI

1 nycka

1. ©Omipai Tabyra Oomaabl:

A) buocghepanviy kes keneen sxncepinoe

B) aneMHiH Ke3 KelreH Kepinie

C) AnTapkTuka MeH ApKTHKaaH 6acka OrnocdepaHbiH Ke3 KeITreH KepiHae

2. buocdepa MeH xepiH 0acka KaOBIKTapBIHBIH HETI3T1 aWbIpMAIIBLIBIFBI
MBIHA/IA:



A) Oumocdepaga OMOXUMHSUIIBIK MPOIECTEpP KYPMEHAl, TEK OHOJIOTHUSIIBIK
ABOJTIONIHSA KYpei

B) sHeprusiaeig 06acka ke3aepi ornocdepanaa KoaaaHbLIa bl

C) eeonocusnvix scane OUOI0UANBIK I80.I0YUS OIP YaKbimma Hcypeoi

3. Tipi maTepusHbIH KaHaal GyHKIUACHIH (POTOCHHTE3TE KATKbI3yFa 00J1a/IbI
A) rasra

B) ToThIKTBIpYFa

C) lorpipnanyra aeitin

D) xepcetinren GyHKIUsIapAbIH OapIbIFbIHA

D) a) srcone 6) gpynxyuscoina

4. Xoraprel atmocdepana TIPUIUIIK €Tyre Kenepri KeNTIPeTiH IIeKTey
(bakTophI KaHaa?

A) ayaHbIH KypaMbl

B) remneparypa

C) ynompaxkynein cayne

D) buIFamIbUIbIK,

5. DOxonorusuiblK —(QakTopiapAblH Kaicbickl Ouocdepangarbl  e3repictepre
Te31peK acep eremi?

A) aOUTHUKAJIBIK

B) anmponoecenoik

C) OMOTHKAIIBIK

The composition and functions of the biosphere

1 nycka

1. Life can be recognized:

A) in my favorite biosphere biosphere

B) in love Zemli

B) in the biosphere of the biosphere, Antarctica and Arctic Circle

2. The main difference between the biosphere and other shells of the Earth is
that:

A) no biochemical processes occur in the biosphere, but only biological
evolution takes place

B) other sources of energy are used in the biosphere

C) geological and biological evolution proceed simultaneously

3. What function of living matter can photosynthesis be attributed to

A) to the gas

B) to redox

C) to concentration

D) to all the listed functions

D) to functions a) and b)

4. What is the limiting factor that impedes the existence of life in the upper
atmosphere to a greater extent?



A) the composition of the air

B) temperature

C) ultraviolet radiation

D) humidity

5. Which of the environmental factors as quickly as possible affect changes in
the biosphere

A) abitic

B) anthropogenic

C) biotic

2 HYCKA

1. MyxuTTarbl aFrbIM aFbIMblHAa OaiJTaHBICTHI OOJIATHIH HET13T1 SKOJOTHSIIBIK
(dhakTOopIapasl TaHIAHbI3

A) cyabIH 00Tyl

B) sxaHOBIp

B) kopwazan opmanviy menodipnici

D) opmanviy pH

D) xopwazan opmanvly my30uliibiesl

E) cyasin OynaHy KbLIIaMIbIFbI

G) KOMIPKbIUKDBLI 2a3bIHbIH KOPULAZAH OPMAOA&bl KOHYEHMPAYUSICbL

2. ATmMocdepara acep eTeTiH GaKTopiIapAblH KaChIChl €H TYPAKThI?

A) KbICBIM

B) eas kypamwi

C) alIBIKTBIK

D) temniepatypa

3. Buocdepara chIpTTaH YHEPTUs AaFbIMBI HE YIIIIH KaKeT?

A) eciMmJikTe maiiia 00JIFaH KeMipcyjap 0acka OpraHu3Mep YILUIH dHEeprus
K©31 peTiH/e KbI3MET €TEeTIHTIKTCH

B) Cebebi opeanuzmoe momwiey npoyecmepi sncypeoi

C) Cebebi opranuszmaep OMoMaccaHbIH KaJIIIKTAPBIH KOS IbI

4. TombIpakTarbl OpPTaHU3MIEP/IIH TIPIIUIIK €Ty Mep3iMi TOMEHJEriiepMeH
MIEKTETyl MYMKIH:

A) eHeTIH XapbIK MeJIIIepl

B) TonpIipakTarsl KOMIPKBIIIKBLI T'a3bIHBIH MOJIIIEP1

C) orcep ycmi ocimoikmepiniy moauiepi

D) XaysbiH-11a1bIH MeIepi

5. Bapinbik atMocdepanbiK OTTeTT TOMEHACTUICPiH 9CepIHEH Mmaiiaa 0oIabl:
A) asmompoghmul opeanuzmoep

B) rereporpodThl opranuzmuaep

C) aBTOTpOdTHI A2, reTepoTPoPTHI 1a ar3anap



2 HYCKA

1. Choose the main environmental factors on which the flow of organisms in
the ocean depends

A) water availability

B) rainfall

C) transparency of the environment

D) pH of the medium

E) salinity of the environment

F) the rate of evaporation of water

G) the concentration in the environment of carbon dioxide

2. Which of the factors influencing the atmosphere is the most constant?

A) pressure

B) gas composition

C) transparency

D) temperature

3. Why is an influx of energy into the biosphere from the outside necessary?
A) because the carbohydrates formed in the plant serve as a source of energy
for other organisms

B) because oxidative processes occur in organisms

C) because organisms destroy the remnants of biomass

4. The life of organisms in the soil is likely to be limited to:

A) the amount of penetrating light

B) the amount of carbon dioxide in the soil

C) the amount of terrestrial vegetation

D) the amount of precipitation

5. All atmospheric oxygen is formed due to the activity of:

A) autotrophic organisms

B) heterotrophic organisms

C) both autotrophic and heterotrophic organisms

14-6emiM. AnaMm KbI3METIHIH KOpILIaFaH OpTara opTara acepi.
TakbIpbin: ATaMHBIH TAOMFATTAFbI POJIi.
Topic: Human and Environment

1. TemMeHnae kepceTiJIreHAepPAiH KAaWCBICHI aJaMFa OH JCep eTeTiHiH,
KaiicbIchl Tepic acep ereriHiH kepcetingep. Indicate which of the
following have a positive effect on humans and which have a negative
effect.

Ox Tepic
Positive Negative

O30H kabatsl Ozone layer




Cyp ereykyipbeik Common rat

Cipecrmie TYZbIPaThIH Oaktepusiap
Bacterium causing tetanus

Kymnarsl KpeMHUIAIH KOFapFbl KYpaMbl
High content of silica in sand

CyOMYXUTTHIK kep ciikiHici Sub-oceanic
earthquake

3USAHIOBI  OKOHAIKTEPAIH  Oachlll  aysl
Invasions of pests

2.AJaMHBIH KOPIIAFaH OPTaJa Tipi KaJybIHAA MAHBI3JbI POJI ATKAPATHIH
epexkmenikrepai kepceringep. Indicate the features that play a key role in
the survival of humans in the natural environment.

MupiH KypbUIbICE Brain structure
Kyiipwikeiy 6ommaysr Lack of a tail
bommkamnay »oHe kocmapiayra kaoutertitik Ability to foresee and

Cakraislll KajFaH yikeH caycak Opposable thumb
KimkenTaii kypek tictep Small canines

: Ceiiney Speech
Uic cesimi Smell [6]

SokT WONE
QD
>
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